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VIDE(14-15)/M-17 2001
MASS COMMUNICATION
Paper VI
Reporting
Time : Three Hours] [Maximum Marks : 50

Note - Attemipt Five questions in ail, selecting one question
from each Unit. Unit V is compulsory.
YEF THE T Uk YA Y0 U, Ko UT T H

S

IW AT | TFEE VOSAHEE §

Unit 1

ECAE

1. Explain various formats of news writing with examplec.

WHER WEE &% (9= Wedl 9 zeee afsd yEm

2. How important is fainess and balance in covering a
story 7 Writc a note on it.

Tl TEm w1 FwE w9 T e & fau feme @
HAFA H N Ve § 7 TH W UH AR fANEu |
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Unit 11

FHE 11

What docs a journalist keep in mind while covering a
Press conference ? Discuss.
T W AfEu 7 3y oW me FiAT |

Discuss in detail importance of follow up stories in
Reporting with example,
gmﬂ%ﬁﬁ@%ﬁﬁﬂﬁmﬁﬁﬁg@
JHTN ey |

Unit HI

ECOE ||

What do you mean by life-style reporting 2 Write a note
on current status of life-stvle reporting in Indian media.
CEE TR fOE § oo o wee § 7 v dite
¥ e wRe ffEn # osdom feft wogw S
fefam |

List some advantages and disadvantages of video
Journalism.

Atz s 1 g m wfE w w9 o=
HITT |

1.-2001 2

Unit IV

ECZENAY

How do you prepare for a live web report m a webstie ?
Discuss with examples.
3= WiEw fowm 7 o= Ffaw

What arc links in web reporting 7 How are they used ?
Write a note on it.

ﬁﬂmﬂﬁﬂm@ﬂ@%ﬁﬁﬂmwwﬁ%ﬂj
@ﬁﬂwﬁgﬂéw:ﬁﬂmﬂ@ﬂ&ﬂg |

Linit V

FTHE V

Write short notes on any four of the following ;
(a) News values

(b)  Types of interview

(¢)  Credit linc. dateline

(d)  Weather reporting

(e} Health reporting.
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MDE(14-15}/M-17 2002
JOURNALISM & MASS COMM.
Paper XII
Advertising

Time : Three Hours] [Maximum Marks : 80

Note : Attempt one question in each Unit T to IV. Briefly answer
all the questions in Unit V. All Units carry equal marks.
§~@H<ﬂﬂm@ﬁﬂ.ﬁﬂﬁu%ﬂ_wﬂm
v % mdl gvd ® sy Hem d Afwy | wl swnd

B

F 3k gEHE T |
Unit 1

TG |

1. Define Advertising. Discuss  various concepts of

advertising. 8+8=16
g =1 oftamn St | S i fatae famweme
F] FUH HSC |

2. Discuss television as a medium of advertising. 16

Ieifaem &1 foged & Wemd @ ®Y A SUH wS

(2-31/1) L-2002(TR) P.T.O.



Unit 11

ECAER

Discuss various types of advertisements. Which type 1s
the most common ? Discuss. 8+8=16
gfus "wmE § 7 FE FIE |

Write a note on Indian Advertising Industry. 16
g fagmd ST W U we fafen

Unit 111

- e 11

What is Mecdia Planning ? On what factors does it
depend ? Discuss. 8+8=16
Sifen whfn wm ¥ 0 A TR FRR W SRa # 7
Fuia FIFEHT |

What is an advertising campaign ? How are advertising
campaigns organised ? Discuss. 8+8=16

%%ﬁﬂﬂwwgﬁﬁ?ﬂ&ﬂ%@%
o W@ £ 7 9 e |

Unit 1V

THE IV

What is the role of social marketing and development n
advertising ? Discuss. 16

frar o wrfeE fAgU qen fawra W e @ E 7
=E] HIET |

1L-2002(TR) 2

8. What is advertising rescarch 7 What are its various types |
Discuss. 8+8=1h
foRmae Y (SEETR) FF 0 TAE S CAEE A £
== FIFAT |

Unit Vv
THE V

9, Briefly answer all the four questions 4x4=16
(i)  Social aspects of advertising
(ity Market Mix
(iiiy Casc study of advertising campaign
(iv) Fihics in advertising.

Tl W oWl & A W o AU
() fazrm F maATEE wE)
(i) A Ay
Giiy AR afes w1 fEE ST
(v) o ® A
(2-3172y L-2002(TR) 3 il
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MDE/M-17 2003
RADIO JOURNALISM
Paper : VIII
Time : Three Hours) [Maximum Marks : 50

Note : Attempt any one questions each from Unit (I-IV).
Unit V is compulsory. All questions carry equal marks.

JaF wE (LIV) § TF T Fife | 35 V e
2 o v B oFm wE €

Unit I

ECIE |

1.  Write about the essential skills for radio news reader.
Foit = T @ fau omovaw wwen & foww W
fafe |

2. Explain the different stages of radio programme production.

et wdwm M % fafr= = & fawg 9 SR |

UnitII

EC IRl |

3.  What do you know about Radio Interview ? Explain in detail.

(4-11/13)L-2003 P.T.O.



%ﬁ&%%gﬁmﬂiwwmﬁzﬂ
TART |

4. Discuss the structure of radio news in details.

ﬁ&%ﬂﬁwﬂﬁmﬁn@mﬁﬂ@m_

Unit III

ECaER L

5. Explain the production process of a news report with example
in detail.
SoE & TY W GErER O i SEed W WEART |

6. What is the use of listenership surveys in Radio Industry ?
e wE W forERie @ SwER w oS g

Unit I'V

&g IV

7. 'What do you understand by Radio Feature ? Discuss.
Yed-wimr @ a9 N gEed § 2 == T |

8. Do you think the national programme of All India Radio

respect the spirit of India ? Explain with examples.

ﬁﬁ@%w@%%ﬁi%q&dﬂaﬁ
G F E w1 OE w7 SAEn wfed FHERy |

L-2003 P

UnitV

THE V

Write short notes on any four of the following :
(a) Fader

(b) Headline

(¢) News Magazine

(dy VO

() Mixer

fefafeg § © f=l WR W HEW feeforat
fafe .

(31) HE

(W) wvE

(w) wAER ufFH

(7) =

(3) TR

(4-11/101.-2003 3 50
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MDE/M-17 2004
PHOTO JOURNALISM
Paper : IX
Time : Three Hours] [Maximum Marks : X0

Note : Attempt any one question from cach Unit (I-1V), Unit v/
1s compulsory. All questions carry equal marks.
g TR (V) 9 Ua W9 H:iEC | TEE OV
afrerd @ 1 9t T # of® TER §

Unit 1

EEQER

1. Explain the concept and developments of Photo Journalism.

T TEHEIRE 1 AF9n @l fawmg w1 e wifey |

2. Write a detailed note on “text Vs. photo” with example.

ferfem

Unit 11

e 11

3. “Good coordination should be there between phoiographer

and reporter.” Comment.

FREME $R A9 # 9 d=s 99=9g w8 =iey |
feqol wifem |

(4-10/7} L.-2004 P.T.O,



4

¥ 13

-

dica il vou select photos for newspaper as sub-editors 2
Exrlain with example.

TmER T % fO 39-wewEEm w ey § W #m we
=0 BHA S @l WA Wiy 7 el Wi SeeEy |

Unit IIT

ECaEm |

Writc about the difference between newspaper and
magazine photography.

FEER T I Um wEmw F dw em @
favg ¥ faf@g |

Explam the different types journalistic writing based on photos.

T W ERG fafam sy sem wed % ey 3§

Unit 1V

ECES 0

What do you know about ethics of Photo Journalism ?
Explam. _

W v ® Mfiww @ fwm ¥ e own owne € 7
= HINY |

Write about the scope of lifestyle and fashion photography.
ST Tl SR BYR wemr s f9fe el &
fama 4 fufew |

L.-2004 2

Unit V

ECaEY
Write short notes on any four of the following :
(a) Cropping
(b) Investing reporting
(c) Caption “
(d) Red carpet photography
(e)  Photoshop
fefafen = 7 =l W W §iww  feofort
fefag .
(1) wift :
(7)) @ e
(d) FoA
(2) & +Mz wrEmmE
(3) wIERNT |

(4-10/2) 1.-2004 3 50
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(i) e F A ROH NO. ooomicecnrenrersesencns Total Pages : 04
ﬁ: MDE/M-17 2005
(W %x%.ﬁ. . MEDIA LAWS AND MANAGEMENT

) : T Paper X

(v) HIw WIH™

vi) YW R Tmw vefteww sfufrm | Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Unit V is compulsory. All
questions carry equal marks.

TOF THEE Y UH W 99 gU R U WA @
I AT | TR V afEd 2 oty & i
A ¥

Unit 1

ECaES |

1. What do you understand by contempt of court and how
one can be saved from this ?

ST W STIAE © oY F I & oo 3E9 Y «=
T oEET T ?

Or (3gar)

Explain Copy Right Act in detail with two case studies.
3 A ® o3 & Wy faww 9 wfafaft w= wd v

T |

L-2005 4 50 (2-59/1) L-2005 P.T.O.



Unit IT
TEE 11
2. What is Prasar Bharti Act, 1990 and its amendments if
any ?
1990 5 YR Wl sifufrm s vws weme s § 0
Or ( 39gar)
Explain Information Technology Act in detail and its
significance in today's circumstances,
B IRl ¥ g st sfutam 5 e
TS 3R R e @7 gy Fifem
Unit III
3EE I
3. What is the need of media management and its scope ?
HfEN e v # sk woR ay wy g7
Or (3t9gar)
Explain the operations of news media companies in detail,
AR Hfen wofrl # weaem 9 frean ¥ Ty |
L-2005 2

UnitIV

TE IV

Explain the issues and challenges between public and

private limited companies.

ﬂﬂﬂ@ﬁ%ggﬂmﬂﬂw_&%%ﬂ%mﬁ.%
T w1 avig i |

Or ( 319ar)

How reasonable do you think multinational stake is in

India media business ?

ﬂﬁﬁ%@m@%&@ﬁﬂmﬁamm@@u
fee ffeft s 2

Unit vV

3EE V

Write notes on any Jour of the following :
(i)  Freedom of speech

(i1} Cinematograph Act

(ili) RTI

(iv) New trends in media business

(v) Joint ownership

(vi) Press and Book Registration Act.

(2-5912) 12005 3 P.T.O.



(a)

(b)

Explain the principle of indistinguishability. Show how
it leads to a classification of the physical states of a
system of identical particles into totally symmetric and
anti-symmetric types. Comment whether this result has
its classical analogue. &

Why a system of identical particles cannot have states
of the type ¢ = yg + y,, where yg and Y, are
respectively, the totally symmetric and anti-symmetric
wave functions,

4255/150/KID/1201 4

Roll No. ..o Total Pages : 4
MDE/M-17 4255
QUANTUM MECHANICS
Paper—I
Time : Three Hours] {Maximum Marks : 55

Note : Attempt five questions in all. Question No. | is
compulsory. Attempt the remaining four questions by
taking one question from each unit.

Compulsory Question

1. <(a) What do you understand by Zero-point energy ? Prove
that the zero-point energy is non-zero. positive and real
for a linear harmonic oscillator. 3

(b} Tt is possible to determine precisely the magnitude of
the orbital angular momentum and the value of any one
of its components simultaneously, but not all of its
components. Explain, why 7 3

(c) A mono-energetic particles beam 1s scattered by a
spherically symmetric potential. Construct the general
form of wave function in the asymptotic region and
explain its physical significance. 3

(d) For a system of two (non-interacting) identical particles,
construct the symmetric and anti-symmetric wave
functions. In which case, the particles will obey the Pauli
Exclusion Principle ? 2

4255/150/KD/1201 (P.T.O.



(b)

(b)

(b)
(©)

UNIT-I

Starting directly from the radial part of the Schrisdinger
wave equation, find the spectrum of allowed energies
for the hydrogen atom. Also, write the maximum possible
value of the energy eigenvalue. 8

Explain whether the energy eigenstates obtained in (a)
are degenerate or non-degenerate? If degenerate, find
total degeneracy for a general energy level n. 3

Consider a system described by a time-dependent
Hamiltonian H(z). Give details of the Interaction picture

for studying the time evolution of the state of the system.
8

Show that the Hamiltonian operator for a linear harmonic

~

oscillator can be written as H = hw (1/2 + 8'3). 3

UNIT-1I

Find the relation between the infinitesimal rotation

operator R, (Aa) and the orbital angular momentum

>

operator L. 4

Z
Calculate the commutators Ewt M.L and [p_, ML. 3

Consider a particle of spin s = 1/2. Find the matrices

~

representing the operators wt w% S, and WW in a

representation in which §2 and wN are diagonal. 4

4255/150/KI)/1201 2

5. (a)
(b)
6. (a)
(b)
7. (a)
(b)

Calculate the Clebsch-Gordan coefficients for the
addition of orbital and spin angular momenta of an
electron in a p-orbital. 7

m:oéEEAfvuArvnom:a

<J2>=<12>=hm2 G+ 1) - m?] where <..>
denotes expectation value in an eigenstate of J2 and J .

UNIT-11

Give details of the method of partial waves to calculate
the differential and total scattering cross-sections for an
elastic scattering process. 7

Consider the elastic scattering of 50 MeV neutrons from
a nucleus. The phase shifts measured in the experiment
are 8, = 95°, 8, = 72°, 8, = 35°, 8, = 5° all higher phase
shifts are negligible. Find the total cross-section. 4

Develop a general solution of the Schrodinger wave
equation for scattering of a beam of particles by a
potential V(r) using the method of Green's function to
obtain the scattering amplitude. 7

Deduce the validity criterion of the first Born
approximation. 4

UNIT-1V

8. A hydrogen atom present in its ground state is placed
in an external time-varying homogenous electric field
E(#) = 2E, sin ®. Calculate the transition probabilities for
induced absorption and emission using the first-order time-
dependent perturbation theory. i1

4255/150/KD/1201 3 [P.T.O.
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MDE/M-17 4256

ELECTROMAGNETIC THEORY
Paper : 11

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all, selecting one question from
each unit. Q. No. 1 is compulsory.

Compulsory Question
1. (a) Define the depth of penetration. 2

(b) What are guided waves? Write boundary conditions for
the rectangular guide. 3

(c) Apply generalized reciprocal theorem to the simple
problem of two antennas far removed from other
conducting bodies. 3

(d) Why effective dielectric constant is decreased due to the
presence of ions and electrons in a region ? 3

UNIT-I

2. (a) Whatis auniform plane wave? For a uniform plane wave

E \
travelling in x-direction show that % = [W; Where
Z

symbols have their usual meanings. 5

{b) Obtain expression for attenuation factor and phase shift
factor for wave propagation in (i) good dielectric and
(ii) good conductor. 6

4256/150/KD/1286 [P.T.O.



3. (a) When an electromagnetic wave is incident normally on
a perfect conductor it is entirely reflected. Show that
electric and magnetic fields differ in time phase by m
after reflection.
{b) Using Poynting theorem prove that the power flow along
a cable is the product of the voltage and current.
UNIT-II
4. (a) Discuss in detail the interaction of fields with matter.
5
(b) memh.: the crossed field motion of charged particle. 6
S. (a) Obtain expressions for the field intensities for T™ waves
between perfectly conducting paralle] planes. 5
(b) Derive an expression for attenuation factor for the TEM
wave. 6
UNIT-IIT
6. (a) Establish relation between vector and scalar potentials
in electromagnetic field. 5
(b} Derive an expression for power radiated by a current
element in terms of effective current. 6
7. (a) What is antenna array? Discuss the radiation patterns
of two-element array of non-directional radiation. 5
4256/150/KD/1286 2

(b}

8. (a

(b)

9. (a)

(b)

Define effective area of an antenna. Show that for an
anienna of any length the effective area gives the ratio
of power received to power flow per unit area in the
incident wave, 6

UNIT-IV

Discuss the reflection of waves by ionosphere at high
frequencies. 5

Show that the attenuation factor for ionospheric
propagation varies as the inverse square of the frequency
when the frequency is very large in comparison to
collision frequency. 6

Discuss the effects of earth's magnetic field on
ionospheric propagation when the direction of
propagation is parallel to magnetic field. 5

Explain various factors affecting lowest useful high
frequency during sky-wave transmission. 6

4256/150/KD/1286 3
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MDE/M-17 4257

APPLIED NUCLEAR SCIENCE
Paper—III

Time : Three Hours] {Maximum Marks : 55

Note : Attempt five questions in all. Select one question from each

(b)

(c)

(d)

(b)

unit. Question No. 1 is compulsory. Use of scientific (non-
programmable) calculator is allowed.

Compulsory Question
How is energy loss mechanism of a charged particle is
different from the neutral one? 3

What are the different particles that can be detected
using GM counter? 2

What are the possible sources of health hazards of

working in a nuclear environment? 3
Define the process of photoelectric effect. 3
UNIT-1

Discuss the unique features of electronic energy loss
curve. 7

What is the relevance of liner and mass attenuation
coefficient of gamma rays? 4

4257/150/KD/1471 [P.T.O.



3. (2

{b)

4. (a)
(b}
{c)

What are the main features of Compton and Pair
production processes? 7

Discuss briefly about the concept of range straggling.

4
UNIT-II

Explain the process of scintillation. 5

Define the term resolution of a detector. 3

g:mﬁ is the basic difference between the normal and L1
drifted Ge detectors? 3

5. Describe the principle. construction and working of a HPGe

detector. 11
UNIT-III

6. (a) What is the basic difference between the neutrons

generated in a photo nuclear reaction and those generated

from the nuclear reactor? 6

(b} Explain the concept of moderating ratio. 5

7. (a) Explain the concept of moderation and list the required

properties of a neutron moderator. 6

(b) What are the features of the angular distributions of

neutron ? 5
4257/150/KD/1471 2

(a)
(b)

(a)

(b)

UNIT-1V

What are the fast breeder reactors? 6
Explain the operational mechanism of BF, counter. 5
Describe the formulation to calculate the critical size of
the reactor. 7

Discuss about the basic concept of fusion reactor. 4

4257/150/KD/1471 3
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MDE/M-17 4259

ELECTRONICS-II
Paper — V

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all. Question No. 1 is

(b)

{c)

(d)

(b)

compulsory. Select one question from each unit.

Compulsory Question
What are the advantages and disadvantages of using
CMOS logic gates ? 3

Why digital electronic systems are superior than analog
one 7 3

Explain why there may be a race condition in a shift
register. 3

On what factors, the operation speed of a TTL logic

gate depends upon ? 2
UNIT-1

Briefly explain Parity and Excess-3 codes. 6

Describe the operation of a —ve NAND gate. 5

Prove that

(i) (A+B)(AC+C)(B+AC)=AB.

(i) AB+ABC+A(AB+B)=1. 6

4259/150/KD/1276 [P.T.O.



(b)

What is XOR gate 7 Develop truth table of a Three

input XOR gate. 5
UNIT-II
4. (a) Explain the operation of CMOS NOR gate. 5
(b) Discuss the operation of a full-subtractor circuit. 6
5. (a) Using the K-map, simplify the following expression :
f(A,B,C,D)=21,2,3,4,7,9 + 3 101L12,13,
o
5
(b) Explain the operation of a parallel binary adder
consisting of half adders. 6
UNIT-III
6. (a)Show how a multiplexer may be used as (i) a parallel-to-
serial converter, and (ii) a sequential data selector. 6
(b) List three applications of a ROM and expiain them very
briefly. 5
7. (a) Construct a shift reigster using SR flip-flops, and
explain its operation. 6
(b) Draw the block diagram of a decade ripple counter and
explatin its operation. 5
UNIT-1V
8. Draw the pinout diagram of a 8085 microprocessor Eoum
with a brief description of each pin. 11
4259/150/KD/1276 2

(a)

(b)

Explain various I/0O and machine control instructions
in 8085 microprocessor. 7

Write a program in assembly language which arranges
the given sixteen numbers in descending order. 4

4259/150/KD/1276 3
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OMDEM-17 4260
ADVANCED ABSTRACT ALGEBRA-II
Paper : 406
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one
question from each section. All questions carry equal
marks.

SECTION-I

1. (a) Let W be an invariant subspace of a vector space V

over F, under T € A(V).Prove that 3 Te A ﬁmw such
that the minimal polynomial of T over F divides the

minimal polynomial of T over F.

(b) Prove that if T € A(V) has only 0 as a characteristic
root, then T is nilpotent. (dimg(V} < o)

2. (a) Prove that invariants of a nilpotent linear transformation
are unique.

(b) Prove that the matrix

1 1 1
-1 -1 -1]¢ gma.
1 1 0

is nilpotent. Find its invariants.

4260/250/KD/627 [P.T.O.



Let p(X) € F[X] be the minimal polynomial of
T € A(V). Prove that if V is a cyclic module relative to
T, then 3 a basis of V in which the matrix of T is the
companion matrix of p(X). (dimg(V) < )

(b) Let T € A(V) be such that T2 = T. Prove that T is
diagonalizable. (dimg(V) < <)
SECTION-II
4. (a) Prove that a left R-module M is cyclic iff M = R/, for
some left ideal Iof R. (I € R)
(b) Prove that every left ideal of the matrix ring M, (F) over
a field F is generated by an idempotent.
5. (a) Prove thatif A and B are sub-modules of the R-modules
M and N tively, then o= M N
and N, respectively, then “xB-A B
(b) Let A be a sub-module of a left R-module M such that
M
Y is a free R-module. Prove that A is a direct summand
of M.
SECTION-III
6. (a) Prove that in a left Artinian ring every nil left ideal is
nilpotent.
(b) Prove that in a left Noetherian ring intersection of all
the prime ideals of R is a nilpotent ideal.
4260/250/KIM/627 2

(a)

(b)

(a)

(b)

Prove that if a left Noetherian ring has no non-zero
nilpotent ideals, then R has no non-zero nil ideals.

Prove that a left R-module M is Noetherian iff every
sub-module of M is finitely generated.

Find the Abelian group generated by x, y, z, where
Ix-2y=0,x+z=0andx-3y+2z=0.

Prove that if I is a minimal left ideal of R, then either
I2 = {0} or I is generated by an idempotent.

4260/250/KD/627 3
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OMDE/M-17 4263
MATHEMATICS
(Complex Analysis-II)
Paper : 409
Time : Three Hours] IMaximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
from each section. All questions carry equal marks.

SECTION-I

1. (a) State and prove Hurwitz's theorem.

(b} State and prove Open mapping theorem.

2. (a) Define Gamma function and Euler's constant ¥,

by Ifz#0, -1, ccooeern. , prove that

ntn’

=1i
(@) aww Zz+D(z+2)-(z+n)"

3. (a) Define Riemann zeta function. Prove that

oo

&= s 1,

n=1 n

where of{n) is the sum of the divisor of n.

(b) State Mittag-Leffler theorem and use it to show that

oo

2
b 1
sin? 1z - M ﬁmiaum .

= —oo

4263/250/KD/1683 {(P.T.O.



SECTION-II

4. (a) State and prove Schwarz reflection principle.

(b) Define Natural boundary. Show that circle of
convergence of the power series 1 + z° + 4 + s a
natural boundary.

5. (@ Ifu:G - R is continuous function which has the
mean value property then show that u is harmonic.

(b) Define Dirichlet problem and prove that this problem
can be solved for the unit disk.

v SECTION-III
6. (a) State Harnack's inequality. Show that Green functions
are conformal invariants.

(b) State and prove Hadamard's Three circle theorem.

7. (a) Define order of an entire function. Find the order of
the following :
(1) A polynomial p(z) = ay + @z + ..... a7 a, #0.
(i) e, ) a positive integer.
(i) e,
(iv) cosvz-

(b) If fz) is an entire function of order p and convergence
exponent G then show that ¢ < p.

(¢) State and prove Bloch's theorem.

4263/250/KD/1683 2

8.

(a)
(b)

State and prove Montel-Carethedory theorem.
State Bieberbach conjecture. State and prove

1
M - theorem.

4263/250/KI)/1683 3
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MDE/M-17 4297

ADVANCED ABSTRACT ALGEBRA-II
Paper : MM-407

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attemp one question from each section. All questions
carry equal marks,

1. Compulsory Question
(a) Is Group of order one nilpotent or not ? Justify.
(b) Find the value of commutator [x, y, z].

(c) Show that relation of similarity in linear transformations
is symmetric relation.

{(d) Define basic Jordan block belonging to A.
(e) Define Simple module.

(f) When a module is called finitely generated ?
(g) Show that Z as Z module is not Artinian.

(hy If V is n-dimensional vector space over a field F then
prove that V is Noetherian.

SECTION-I
2. (a) State and prove three subgroups lemma of P, Hall.

(b) If G is nilpotent group of class n, then which term is
the first of the lower central series that equals identity ?
Justify your answer.

4297/3,400/KD/631 [P.T.O.



3. (a)

(b)

(b)

(b

4297/3,400/KD/631 2

Prove that a finite p group of order p" is nilpetent of
class at most n.

If G # {e} and G is nilpotent then prove that
2(G) # {e}.

SECTION-II

If T € A(V) has all its characteristic roots in F, then
prove that there is a basis of V in which the matrix of
T is triangular,

If T € A(V) is nilpotent, then prove that
O+ o T+ +0,, T™, where o, € F,

if invertible if oy # 0.

Prove-that the matrix

I 1 1
-1 -1 -1
1 1 0

is nilpotent, and find its invariants and Jordan form.

Let V and W be two vector spaces over F and suppose

that v is a vector space isomorphism of V onto W. 9.
Suppose that S € A(V)and T ¢ Ag(W) are such that

for any v € V, WwS(v)) = T(y(v)). Then prove that S

and T have the same elementary divisors.

SECTION-III

M
Prove that the submodules of the quotient module N

are of the form m. where U is a submodule of M

containing N.

(b) Let R be a ring with unity. Prove that an R-module M

R
is cyclic if and only if M = El for some left ideal I of

R.

(a) State and prove Schur's lemma.

(b) Let M be a finitely generated free module over a
commutative ring R. Then prove that all bases of M
have the same number of elements.

SECTION-IV
(a) Let M be an R-module, and let N be an R-submodule

of M. Then prove that M is Noetherian if and only if

M
both N and —

N are Noetherian,

(b) Prove that a subring of an Artinian ring need not be
Artinian,

State and prove Wedderburn-Artin theorem.

4297/3,400/KD/631 3
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MDE/M-17 4298

REAL ANALYSIS-II
Paper : MM-408

Time : Three Hours} {Maximum Marks : 80

Note : Attempt five questions in all, selecting one question trom
each section and the compulsory question (Q. No. 9).

SECTION-I

I. (a) Show that Lebesgue outer measure m* is countably sub-
additive. Hence or otherwise, show that the set of all
algebraic numbers has outer measure zeto. (6+2)

(b} Construct a set which is not Lebesgue measurable. 8§

2. (a) Show that every measurable function can be
approximated by a sequence of simple functions. g

{b) Show that the Lebesgue measure m is translation
invariant. g

SECTION-II

fao
=

State and prove Lusin's theorem. 9

thy  Show that every sequence which is convergent in measure
has an almost everywhere convergent subsequence. 7

4. State and prove Lebesgue theorem regarding points of
discontinuties ot Riemann integrable functions. 16

1298 2,400 KD 158! PTO.



6.

1.

SECTION-1H

(a) Let f and g be non-negative measurable functions
defined on a set E. Show that

frro=fr+]s. 8
E E E

(b) Let / be a non-negative function which is mtegrable
over a set E. Show that for given € > O there is a & > 0
such that for every set A < E with m A < & we have

%&Amf 8
A

Let f be an increasing real valued function on the interval
[a, b]. Show that f is differentiable almost everywhere. Also
show that the derivative f’ is measurable, and

b
._._\;co dx< f(b) - fla, 16

SECTION-IV
(a) Let f be bounded and measurable on [a, b] and
Flx)= b. fitydt + F(a), show that

F'(x) = f{x) for almost all x in [a, b]. 8

(b) If @ is continuous on {a, ) and if one derivative (ray
D*) of ¢ is non-decreasing, show that @ is convex. 8

4298/3,400/KD/'1581 2

8. State and prove Riesz representation theorem for bounded
linear functionals on I (1 € p < ). 16
Compulsory Question
9. (a) A set with outer measure zero is countable. Prove or
disprove this statement.
(b)Y Give an example of a function (with justification) which
is not Lebesgue measurable.
{c) State (only) Egoroff’s theorem.
(d) Give an example of a function which is Lebesgue
integrable but not Riemann integrable.
(e) Show that monotone convergence theorem need not
be true for a decreasing sequence of functions.
(f)  Show that a function of bounded variation need not be
continuous.
(g) State (only) Jensen's inequality.
(h) State (only) Holder's inequality for integrals. (§x2=16)
4298/3,400/KD/1581 3



(el

{

t

What i~ the purpose of format rescan rule?
Crive anexample of un array of a derived data tvpe.

“rite o zeneralized sy ntax for opening of a direct access

se.

Explain the working of BACKSPACE kevword in
relation o sequential 1les.

Roll No. ... Total Pages : 4

4299

MDE/M-17
COMPUTER PROGRAMNMING (Theorys
Paper © MM-309

Time : Three Hours| [Maximum Marks ; 50

Note :  Attempt one question from each Section I to [V, Section

V is compulsory. All questions carry equal marks.

SECTION-I

1. Tustrate with example programs. the working of various
forms of IF constructs. (16)

2. (a) For three given points on a plane. derive the condition
for these points to be collinear. Also write a source
program for the same. (8)

ib) Write a source program to illustrate the use of the
keywords :

EXIT and CYCLE. (8)
SECTION-II

3.t Write a FORTRAN-90 program to compute the dot

product of two given vectors (x;, ¥,. X3} and

V. v vy) using & subroutine subprogram. (-4)

I TN Dot v ecable fuw cose v o ol i

s o s ot '

SN g0n R anT [Eo



(c)

(b)

(c)

(b)

(c)

(b)

4299/3,400/KD/622

Using SELECT CASE construct, write a source program
to compute simple interest on a given amount at the
rate r (per unit) given by r = 0.12, if @ > = 1000 and
r < 5:r=015ifa>=1000and t>=5;r=0.1 else.

(8)

Write a FORTRAN-90 program to interchange odd and
even placed elements of a given linear array. (4)

Write different input statements to read a 4x3 matrix of
real values. (4)

Write the list of in-built functions in FORTRAN-90, in
which arrays are used as arguments. Explain the working
of thes& functions. {8)

SECTION-III

Discuss the notable points, which should be kept in mind
while using FORMAT specifications for PRINT
statements. (%)

Use examples to illustrate the working of TRIM() and

ADJUSTL.() functions. (&)
Discuss the working of in-built functions in FORTRAN-
90, which are used to compare strings. {4)

IHustrate the use of INTERFACE in a source program
to evaluate a given polynomial through a subprogram.

(6)

Using a MODULE, write source program to compute

f(x)dx for flx) = V/x — sin {x). (1

-—-'—_—.IQ

2

(b)

(c)

(b)

(c)

(b)

SECTION-IV

In a generalized syntux for opening a sequential file,
explain the various options available in FORTRAN-90.

(8)

Explain the meaning of various integer values used in
the following statement READ (20, 50, REC=roll,
ERR=70) roll, name, result. {4)

Use an example to explain the declaration and assignment
for pointer to a derived data type. (4)

Write a source program to create a linear linked list of

3 characters. (4)
Write a note on the feature of FORTRAN-90,
represented by WHERE. (4)

Write a source program to illustrate the use of in-built
functions, which can accept the arguments of COMPLEX
data type. (8)

SECTION-V
(Compulsory Question)

Write the major steps in the anatomy of a simple
FORTRAN-90 source program.

Relate the functions INT() and NINT(), for their use in
FORTRAN-90.

Explain the meaning of the statement REAL :: x(~1: 3),
y(0: 5yin a FORTRAN-90 program.

Explain the working of the functions SHAPE and
RESHAPE in a FORTRAN-90 program.

o

4299°3.400/KD:622 3 [P.T.O.
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MDE/M-17 4300

COMPLEX ANALYSIS-II
Paper : MM-410

Time : Three Hours] [Maximum Marks : 80

Note : Attempt one question each from Section I-IV. Q. No. 9

(b)

(b)

(b)

{Section-V) is compulsory. All questions carry equal
marks.

SECTION-1

If {f,} is a sequence in H(G) and f belongs to C(G, @)
such that f, — f then show that f is analytic and

£ = £% for every integer k 2 1.

State and prove Montel's theorem.
Define Weierstrass primary factors and prove that
log E,(2)] <2 [P

Prove that

Jareo =22z + w

SECTION-II

Describe analytic continuation of Riemann-Zeta
function.

State and prove Runge's theorem.

4300/3,400/KD/491 [P.T.O.



4. (a) Show that the circle of convergence of the power series
3n
MN is a natural boundary of its sum function.
n=0
(b) State and prove Schwarz Reflection principle.
SECTION-III

5. (a) Letu:G — R be a continuous function which has the
MVP, then show that u is harmonic.

(b) Represent cos nz in the form of canonical product.
Henct write the entire function cos z as canonical
product.

6. (a) Show that the Dirichlet problem can be solved for any
region £2 such that each boundary point is the end point
of a line segment whose other points are exterior to 2.
(b) State and prove Hadmord's three circle theorem.
SECTION-IV
7. (a) Show that the exponent of convergence & of a sequence
{z,} is given by
o =lim sup iwom|:.
e loglz, |

(b) If fis an entire function of finite order p then prove

that f has finite genus M < p.
8. State and prove Bloch's theorem.
4300/3,400/KD/491 2

{b)
(c)
(d)
(e)
(H
(8)
(h)

SECTION-V

(Compulsory Question)
What is an integral function ?
Find the residues of I'(z) at the poles z = —n.
Find the order of fiz) = mmw. where A is a positive integer.
What do you mean by Analytic continuation ?
State Monodromy theorem.
What is Bieberbach's conjecture ?
Define Dirichelet's region.

What are Univalent functions ?

4300/3,400/KD/491 3



differential equation of the given differential equation and
prove that x{(r) is a solution of the given boundary value

b
problem if and only if x(r) = | G(r. s} f(s5)ds. 16
9. (a) Solve the boundary value problem &
d ) 0°
=22 0cx<l. 150
ot ox-
uix, ) = uglxh O <x < w0, ) = (1, H=0,1>0,
(b) Define periodic solution of system of differential
equations and discuss the application of Fixed point
theorem for such solutions, 8
4301/3,400/KD/1685 4

Roll No. .o, Total Pages : 4

MDE/M-17 4301

DIFFERENTIAL EQUATIONS-II
Paper : MM-411

Time : Three Hours] [Maximum Marks : 80

Note :  Attempt five questions in all, selecting one question from
each Section. Question No. 1 is compuisory.

Compulsory Question
1. (a) Give an example of Riccati's equation and write down
its equivalent 2™ order HLDE. 2

{b} Define common zeros of a solution of a differential
equation. Construct an example of a differential equation
which has three solutions that have a common zero. 2

{¢) Give complete definition of a spiral point and also draw

its diagram. 2

(d) Find fundamental matrix of the system 2
1 0 0
X(1) = Ax(t), where A = |0 =2 0
¢C 0 i

(e} Explain limit orbit. 2

(f) s it possible that critical point of & non-linear system
of differential equations can be a spiral point and node
as well? Justify your answer. 2

4301/3,400/KD/1685 (P.T.O.



(g)
(h)

(b)

(b)

4. (a)

(b)

State Implicit function theorem. 2

Construct an example of a SLBVP which has repeated
eigen values. Will the eigen functions be still orthogonal?
2

SECTION-I

Let x, and x, be two linearly independent solutions of
X"+ a(tix' + b(H)x = 0, t = 0. Prove that x, and x, do not
admit common zeros. 8

State and prove Abel's formula. 8

Solve 4xy"(x) - 8y'(x) + x>y(x) = O using Pruffer
transformation. h

Is Bessel's equation oscillatory? Prove your claim. 8
SECTION-II

Let g € Cla, b} such that 0 < ¢ < g(¢) < d in the differential

equation x"(f) + g(f)x() = 0. ff cand B,a<a < B < b,

are two successive zeros of a solution of the given ODE,
n i1

Emn?dé%ﬂ I,.\W AleA H 8

o0

Given that x" + a(f)x = 0, and ft) = ‘_. a(s)ds exists on
H

(0, o). Let v be a continuous function such that

T T
v(T) — v(r) + ._. vi(s)ds = u‘—ﬂ a(sds; T 2 ¢,

i

t € (0, =), Prove that ._. vi(s)ds converges and
t
WT) —>0as T — oo, 8

4301/3,400/KD/1685 2

(a) Discuss the type and stability of the critical points of

dx dy
—=x, =~=-x+2y, 8
a a0

(b) Define a plane autonomous system. State the conditions
when the origin will be a saddle point of such a system
and prove your claim. 8

SECTION-III

Define Liapunov function. Discuss in detail Liapunov's direct

method to find the stability of a non-linear system. 16
) . dx

(a) Given a non-linear system M =—x+3y,
dy _ 2 . .
o —3x— y+y”. Determine the nature of all possible
critical points of the system and also discuss their
stability. 8

(b) Explain limit cycles and periodic solutions of a system
of differential equations. 8

SECTION-IV

Given a differential equation {(p(£)x'(£)}" + g(£)x(¢) + fin=0
together with Boundary conditions :

myx(a) + myx'(a) = 0, myx(b) + myx'(b) = 0,

where at least one of my and m, and one of m; and m, are
non-zero. Construct Green's function G{¢, 5) with the help of
a fundamental set of the corresponding homogeneous linear

4301/3,400/KD/1685 3 [P.T.O.
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MDE/M-17 4357
HUMAN RESOURCE MANAGEMENT
Paper-MC-201
Time : Three Hours] [Maximum Marks : 80

Note : There will be eight (8) questions in all. The first question
of section A is compulsory and consists of six (6) short
questions having four (4) marks each. You are to attempt
any four questions out of remaining seven (7) questions
and each question carries fourteen (14) marks each in
Section B.

qe . w/A 8 YA Ru M ¥ wvs-w # wT wE |
Afard & el 6 oy v Ru ¥ vEE WA 4
%% H L WS- W 9SO LM U WA § § R 9
a® WA F IR A owEE v # 14 sw P

SECTION-A (Q@UE-&)
Compulsory Question ( 31fHad Ww9T)

1.  Answer the following :
(a) What is HRM? What are its objectives?
(b) Differentiate between training and development.
(¢} Define Job analysis,

(d) List the benefits of training.

4357/5,000/KD/1333/Trans. [P.T.O.



fe) Write short note on Selection.

(f)  What is Employee compensation”
frefafen =1 s fsw .
(F) THLHRTH. (HRM) 1 87 6% 3299 #9 27
(@) 9o 3R o % d9 aR waru
(M) AR favemu & gfiafor it
(%) T F oA W OWE SR
(F) 17 T Ay fooqol fafgu)
() T A R
SECTION-B ( @UE-T)

Distinguish between Recruitment and Selection. Explain
various methods of recruitiment.

vdl o wgq # F9 s FaEv 9l 7 fafis fafe
F FRA FHFQ

‘The history of development of personal management in India
is comparatively of recent origin. Comment and explain the
evolution of HRM,

yd H 5 weve # fawm @ shem v 9 % v
| JANEF ¥ CAIRUA F fawm W feom w am
Foi3 Fifaq)

What is Transfer? What are the reasons for transfer?
T T 27 THETRRY F OFRO F R

4357/5.000/KD/1333 2

Give the meaning of Recruitment. Explain the various
modern sources of recruitment.

i # AoeE TR o % fafas s wel #i
AT g

What 1s Performance appraisal? Discuss the steps in
performance appraisal,

ST HeAlwA N 7 YAt gedlsd § Ry Mo o
F1 T4 FIfu

ldentify and discuss the challenges before the HRM in

globalization,

YT A UHG wEYE YEYR § Wed w1 SR
TEEIe o == sifaw

Explain the measures to manage the stress at work.

FE W TG F TACH FH F IUE F =R F

4357/5,000/KD/1333 3



Roll No. .. Total Pages : 3

MDE/M-17 4358

INTERNATIONAL BUSINESS ENVIRONMENT
Paper : MC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

e ;. A ufe W # SwW AfNw wE wen 1 oofEd R
1. Compulsory Question ( 3TFETd UFF )

Answer the following in brief :
{a) What is the importance of International business ? 4

(b) “All MNCs are Internation] Corporations (ICs) but all
ICs are not MNCs.” Elaborate. 4

(c) Differentiate between FDI and PI (Portfolio Investment).
4

(d) Why GATT was replaced by WTO ? 4

(e) Discuss the rationale behind Regional economic
cooperation. 4

(f) Explain the nature of Foreign Exchange Market. 4

frafafas + sw Haw § O,

(F) T IR F R TR 37

(@) “'aft EAH. MNCs) swwrEm fam ¥ @fEw
ifi eI fm ST wutEl T ¥ faaw
¥ gue Hifm)

4358/5,000/KD/698/Trans. fP.T.O.



(M TEELIE (FD) 3R dew (e (faurim fE)
F d9 IR TR

() FMTAD. (GATT) F T=g2L3. (WTO) T
e T en?

(3) &t e weam & sifem # == wifaw

(A) fasslt g0 W9R HT TEHf F FHHEY

“There is a huge scope of Interational business in today's

scenario.” Elucidate 14
“are F YRR O TR SR F OTH Tgd WEl
T B we wifsm

Define Technology transfer. What is the importance of
Technology transfer for a country like India ? Also discuss
the types of technology transfer. 14

S wERRE w5 aRE F Y ARa S S @
iy S ST 1w e 87 ST
AR ® FER WS == SRS

“UNCTAD is one of the least successful International
economic institutions.” Do you agree with the statement ?
Discuss. 14
“SFTE (UNCTAD) FH-G-FH TEA S=lezE offis
T § ¥ UE ¥ FW Y T FUH ¥ TeHd 27 =

FHifa

4358/5,000/KD/698 2

Critically analyse the contribution of World Bank for

developing economies. 14
forwEee AP=ERs ® fou fova 9% % AvERH &
HereAeEE  favewn Fifsul

Why ASEAN is a successful regional economic cooperation ?
What is its importance in International business ? 14

TN (ASEAN) U O%el 4o onfei® weeiman a3
3 sREeE =R ¥ THE F Wee #2

How does EU function ? Also discuss the pillars of success
of EU. 14

EU 39 @ @ 87 BU & ARl 9hadl & @
==t =

Define Foreign exchange rate. What are the determinants of
Foreign exchange rates ? 14

felt fafma = & sfrfm =it faseht fofma <
F frufew =01 &7

4358/5,000/KD/698 3
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N

T ST 3 MDE/M-17 4360
TR X W Y FINANCIAL MANAGEMENT & POLICY

[SIUGHE T 6,000 T 6,000 Paper : MC-204

THR STATE ¥ wtaE N AURER Time : Three Hours] [Maximum Marks : 80

Year I 4,000 2 8.000 2
I 8,000 6 4.000 6 Note : Attempt five questions in all. Question No. 1 consisting
M1 12,000 2 3.000 2 of six short answer type questions of 4 marks each is

compulisory.

T F fF w109 # He ;. w o v B sW A ww § o1 e 4 o=

FH-Y W w999 W W afew? el §: oEwig e gfimfed &, st 2

1. Compulsory Question ( 3tf@ard weT)

Write short notes on the following :

(a) Role of Finance for business.

(b) Concept of Financial forecasting.

fc) Cost of debt.

(d) Motives of holding cash.

(e} Credut Policy.

(f) Risk Analysis for Capital Budgeting.
= w dfyg fewfal fafeg .

(%) =R & fow fw # f
(@) fodm qaiqaA #T IR

4360/5,000/KD/700 4 4360/5,000/KD/700/Trans. {P.T.0.0



() &M H AWEI

(9) 778 TR H el

(%) »fee ifa

(F) ot oA & forg ifaw fagerm

2. Explain the role and responsibilities of Finance Manager in
present times.
FduR THE o fam weuE 6 ofi ol feefar =
= wifsay

3. Define Present Value, and explain the factors affecting
present value of money.
TR Hed B IR ity o gw % TdER ged
F YW FE T FRH F AR R

4. Critically explain the suitability of important methods of
Financial forecasting.
foda qEqAm #1 wewgu fafwat #1 ITgEa w1
AATATHE A i

5. A Company issues 10,000 10% Preference Shares of ¥ 100
each. Cost of issue is ¥ 2 per share. Calculate Cost of
Preference capital if shares are
(i) issued at par,
(if) at a discount of 10%, and
(iii) at a discount of 5%.

4360/5,000/KD/700 2

Cost : T 6,000
Cash inflow :

TF F T 100 W T ® 10000 10% R W
Wi w & WY W ArE T 2 9 e R freew
R S w1 @ &1 T wifee, AR R

(F) T W 9 fR Wm ¥,
(@) 10% # T | ) R W, o
(M 5% H & W I FF I 2

What do you mean by management of Working capital ?
Explain the general principles of sound Working Capital
Management Policy.

FEA Yo B WEYA R Wl I oaed 27 9GS
Fde ot ym s & @ fagrdl w1 o=
Ffea)

Critically explain the Miller and Orr Model for Cash
Management.
31 waed T fier qen s (Orr) Rise! ®1 SAw=AITS
e Hifsw

Two mutually exclusive investmeini pioposals are belug
considered. The following information is available :

Project Y
T 6,000
I Probability

Project X

T Probability

Year | 4,000 2 8,000 2

I 8,000 .6 9,000 6
I 12,000 2 9,000 2

Assume cost of capital is 10%.

Which of the project be selected ?

4360/5,000/KD/700 3 [P.T.O.



H fafez 3 s fafire & wd3 3k weimd =
TTeaE T w1 TR ® O SuR 9% iy |
T 20000 Ffyw fRar aml (AR N TR IR
Fifem)

(@)H fafits & wfF d § fafies 4 ek ™ ==
F T 8000 Wi € ot S fafite & =W ¥ H
fafee = fast & fw T 24000 o & fag
s fafike 3 T 6000 F1 @ Fwrm R

(M s fafiee & o & <o @-afimew o9 T @
¥ TE o @ 7 60000 W ¥ TF w 3vg HAR
e 2

a9 H fafiRe o sot wems e § Rafe @

31-3-2001 TF F W S0y e ¥R wE B

4361/5,000/KD/701 8
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Time : Three Hours]

Note :

e -

1.

4361

NO: e Total Pages : 8
MDE/M-17 4361
CORPORATE ACCOUNTING
Paper : MC-205

[Maximum Marks : 80

Attempt five questions in all including Q. No. 1 which is
compulsory.

WA T | W ofed ¥ w Wy q@ e wE
% I Dfw

Compulsory Question ( 3IFar we)
Explain the following :

(a) Difference between Operating Lease and Financial
Lease.

(b) Advantages of Periodic Reporting.

(c) Circumstances under which valuation of shares is
essential.

(d) Prior Period Items.
(e) Objectives of Social Reporting.
(f) Statutory Books of Accounts.

freafafas =1 we FifT .

(F) MfEem =2 o g v & 9= s

(@) smafus faifén & @

ﬁavwm@aﬁﬂisﬂﬂ&iﬂmﬂ_ﬂﬂaﬁﬂ
|

/5,000/KD/701/Trans. [P.T.O.
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() @ 3= F= aem
(T) TS foifdn 5 R
() @ F Berfrr g

Explain the usefulness of segmental disclosures to inves
and other users. What are the difficulties in Eoﬁﬁm )
segmental information in company annual reports 7 | *

¥4 IETREE SR FRvE = wem ywdwmi a
ST F e Fif i weh o gmte fod L
T IER W wE T o el A a8

Describe the steps taken at the International level for
harmonisation of corporate reporting during the past decades.

o8 Tt & 2w Fhoe gt w gETET $ fom
%%ﬂgﬁﬂ&ﬁ%%_

Describe the method of valuation of human resources as
suggested by Jaggi and Lau. Also point out the merits and
demerits of this method, 14

i%%wﬂmﬂaﬂﬂﬁﬁg%ﬂﬂmﬂﬂ
fafy #1 avf7 M m faf S sk o o @
T

Explain the provisions of Companies Act regarding payment
of managerial remuneration to different categories of
managerial personnel. 14

ﬂmﬁdﬂﬂ&ﬁmﬁﬁ%%gﬁmﬂanﬂmﬂﬂ
%%@u%ﬁ.ﬂmmﬂﬂ%ﬁ@mﬁ%nﬂiﬂ
= Hifau

4361/5.000.KD/701 2

6. Balance-Sheet of Jay Ltd. & Ray Ltd. as on 31-3-1996

JayLtd. | RayLtd JayLtd.[ Raylid.
— 7 ? T T
7ty share Capital Fixed Assets 8,00,00] 6,060,000
HNCaT) 500,000 | 4.00,000 |Investments - -
g Hﬁ.&.ﬂm:nn 5,000 shares of
,.\.. Share Capital RayLtd. 60,000 -
! (T 100) 5,00,0001 1,00,000 |Current Assefs 5,00,000] 2,00,000
Reserves 140,000 1,00.000 [Loanta Ray Lid, 30.000 -
7% Debentures (¥ 100 - 1,00,000
LoanfromJayLtd. -1 30,000
Other Liabilities 250,000 70,000
13,90,000 [ 8,00,000 13,90,000{ 8,00,000

fay Ltd. decides to amalgamate in the nature of purchase

Ray Ltd. on the following terms :

(a) Jay Ltd. will issue 7 equity shares of T 10 at a premium

of 20% and T 5 cash for every five equity shares of
Ray Ltd. surrendered.

(b)  Preference shareholders of Ray Ltd. are to be given one
6% preference share in Jay Ltd. for every share held.
These shares are to be issued at a premium of 5%.

(c) Liquidation expenses are to be paid by Jay Ltd,
amounting to ¥ 10,000.

(d) Jay Ltd. revalues the fixed assets of Ray Ltd. at
T 8,00,000 on takeover,

Close the books of Ray Ltd. and pass Journal entires in the
books of Jay Lid. and the Balance-sheet after takeover. 14
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3 fafipe ok 1 fofiee # $=&9 v 31-3-1996 En 7. A company issued for public subscription 50,000 shares of
Rs. 50 each payable as follows :

= fafez|t faies o fafis it faftes
2 ? ? ? o Mo
PP JU—— 5.00.00] 6.00.000 On application
On allotment 20
® 10) 5,00,000} 4,00,000|f=¥ 5,000 - - On first call 10
6% TRm ¥R o i fa & On final call 10
60.000 n final ¢
(X 100) 5,00,000| 1,00,000 | T TRA 5,00,000| 2,00,000 Applications were received for 1,00,000 shares and allotment
g 1,40,000§ 1,00,000 |3 fa. =+ =9 30,000 - was made as under :
M\q feaerd M 100) -| 1.00,000 Applications for 20,000 shares — Rejected
s e -| 30000 Remaining applicants — Pro-rata Allotment
Fq AT 250,000 70,000 o ) .
Excess application money was adjusted against subsequent
13,90,000 8,00,000 13,90,000| 8,00,000 .
instalments.

% foafids frafafed o | w9 # 9Ffa & ®F 7 1

fafiRe % TEE H PG w@

(%)W fafmee Y fafire gw wafte fFd ™ wdw i
s v & fag T 10 9= 7 sREE R 20%
F WigEw a1 T 5 P W I FHW

(@)} fofite 3 I u@ # | T F AU 6w
FfEar IR T o 8 ¥ W 5% & WiEE W

Mr. P, who had applied for 800 shares, failed to pay allotment
and call money. Another shareholder, Mr. Q who was allotted
400 shares, failed to pay call money.

Prepare Ledger accounts and Balance-Sheet assuming that
final call has not been made by the company. 14

e TeEhETA ® T TE HEA 50,000 TEU
2 50 T B M W PEEER S wE # e

s o e AT W Mo
(M = fafes g@ wW W $ @@= F T 10000 F aEE | 20
qmaE e S e o W W 10
(9) & fafiee s W T 800000 § 1 fafes i sfem AN W 10

s TRt # oS T B
} fofige # TRE W SR @, JHIET & W W
fafds =1 frael iR dcre-tie § oie wfafedl @
w fare gEm e S

4361/5,000/KD/701 4

100000 TR ® AU s ww gU R emeed e
wer FE T o

20000 IR ® fw omaRT - A

Y MEH - AU STEA
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i sma A A= # fevel ® w9 ¥ wEEifw
F ot T

A . e 800 o # e e fem oen, emEe
S A A B g B G frww @) o
400 ¥R wEfed fFU M o, win uf FogwE ww §
fawe @

T A GO FUR g e wim T e w2 oew
T 9 d99-Fie SR Fif

for sales to H Ltd. on which S Ltd. made a profit of
T 6,000.

(¢) S Ltd. made a bonus issue during the year out o.m pre-
acquisition profits and ¥ 60,000 not recorded in the

books.

You are required to prepare the Consolidated Balance
Sheet of H Ltd. and its subsidiary S Ltd. as on
31-3-2001. 14
H fafee ¥ 1-4-2000 #1 § fafiRs & 1200 3R
Yo w1 ahmEm fEw H O fafive o Sww e
ot F dom-we 31 wd, 2001 IF W TER F

g

8. H Ltd. acquired 1,200 equity shares in S Ltd. on 1-4-2000.
The Balance-sheets of H Ltd. and its subsidiary S Ltd. as on
31st March, 2001 are as follows :

Liabiities = HLW.[ SLid| Assets HLw| SLe

Preference Skare Capital 1,003,000 — | Land 3,56,0001 70,000

Equity Share Capital Properties 3,76,000] 40,000

(¥ 100 each fully paid) | 5,00,000 1,506,000 Plant and Machinery| 1,40,000] 91,300

General Reserve 3,40,000 6,000] InvestmentsinS Ltd} 1,80,000 -

Pand L Account 3,60,0001 1,08,000] Stock -1,36,000] 50,600

Creditors 1,00,000] 44,150] Debtors and Cash 2,12,000] 80,400

Bills Payable - 24,150

14,00,000] 3,32,300 14,00,000] 3,32.300

Other informations :

(a) On 1-4-2000, Profit and Loss Account of S Ltd. stood
at T 77,500 and general reserve at T 3,000. Also
H Ltd. revalued plant and machinery of S Ltd. at the
time of purchase of shares by Z 20,000 more than its
book value (Ignore depreciation).

(b) Stock of H Lid. includes % 8,000 of stock purchased
from S Ltd. Further debtors of S Ltd. includes 2 24,000

4361/5,000/KD/701 6

Loai s fa| wofa | oResfd mfa| =mfa
Erpsipii il 1,00,000 ~- | #= 3,56,000| 70,000
HECCCE Tl wofa 3,76,000| 40,000

(T TE W P

w=F T 100) 5.,00,000] 1,50,000| w5 = WAAE | 1,40,000] 91,300
g 99y 140000| 6,000|S fafwee § faw| 1.80.000 -
a9 ofR wf @@ | 3,60,000{1,08,000} =iE 1,36,000| 50,600
FAER 100,000 44,150| 38R X T&% | 2,12,000] 80,400
2y fad — | 24,150

14,00,000]3,32,300 14,00,000 |3,32,300
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3= AT |
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6.  What is Consumer Price Index ? What problems are facel
in the construction of such indices 7 4+ 11
TeF Ted gEEE 1 87 U gEFIEl = Aum § T
FiETEA T WEA TN q=A 27

7. Why do we deseasonalize time series data * Briefly describe
its methods. 6+
|EE @A €9 FO2H 7 T

8. Explain the following :

(a) Models of time series analysis.
™ (b) Properties of normal distribution. 7+7
frefafaa =1 = &1
(%) 793 JEan faveayw = oiz|)
(@) 9yrw faa = o
<
4362/5,000/)KD 1318 4
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MDE/M-17 4362

BUSINESS STATISTICS
Paper : MC-206

Time : Three Hours]) [Maximum Marks : 80
Note : Attempt any five questions including Q. No. | which is

compulsory.

e A W Y F1 IW S 9 §ed Uw e 2
Compulsory Question ( 31famd ws)

1. State and explain (solve) the following :
{a) Reliability of the estimate.
(b} Components of a time series.
(c) Conditional probability.
{d) Poisson distribution.

(e) From the following, obtain the values of r\y, and r|; 4
ri =070, ri; = 0.61 and ryy = 0.40.

{fy What is the probability that a leap year, selected at
random, will contain 33 Sundays ? 6x4=24

fad, 999 @ = F ga &l
(F) s7Fe &t Tovamgan

(@) T 1 99 fE@n|

() WY HrEA

() dgEa oo

4362/5,000/KD/1 518 Trans. [PT.0.



Flaa 0, F1 TR BRI, = 0,70,
Fis =061 3R 5y = 040

-
-

(F) TgeF 9§ 9 MW Y 59 T 53 FHER 2N 9
[ F gRi?

2. From the following, determine the regression eguanon of
(4) x, on x, and Xy
(b} xy on v, and Xy 1.
r, = 0.8, r ;= 0.6, ryy = 0.5
6, =10, 0, = 8 and o, = 10. (7+7)
frfdfes ¥ 9 g el B
() Xa HR X3 W X
by x i ty W,
ria =08, 713 =06, ryy = 0.3 i
6,=10,0,=8 3 g, = 10,
3. Obtain Fisher's ideal index from the information aiven
below : 14
2002 2003
Commodities  Qty. Price Qty. Price
A o 5 12 4
B 6 8 7 7
C 3 6 4 3
4302/5.000/KD: 1518 2 43

6

2

9 & W wHEd § fE
Jul2 2003
A Iy : 12 4
B O b 7 7
C 3 0 4 5

Ina farge group of men. 4 per cemt are under 60 inches in
height und 40 per cent sre between 60 and 45 inches.
Assuming a normal distributon. find the mean and standard

deviatnons of the JQistribution, 14
TR AE WEZ S 4 IR o0 39 W TR g AR

W W 60 AR 45 Tm F T F v ommnm A
MY B AT AR fAa F1 SAE fAEes

In i bolt factory, machines A. B. and C manufacture 23 per
cent, 35 per cent and 40 per cent of the toral autput
respectively. Of the wtal output produced by the respective
machines. 5, 4 and 2 per cent are the defective bolts. A balt
s drawn at randon and is found 1o be defective, What is the
probability that it was munufacied by muchines AL B or
14

FHI: 3s% AR 0% SR ERA B B SIsep
FO07 A T oEEw: WA 30 Seed 5, 4 5K 2
TR 2y weE f) uw Al anfes w9 9 e
: THE] HAEA R
ﬁwaﬂﬂﬂﬁ%

RATEN

3

¥ AR wg Wyl v s §)
f& o smE wiRl, ALB. @ C

O

[
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Prinedbupes 3 6003
OMDE / M-17
LITERATURE IN ENGLISH (1798-1914)
Paper-1IT
Time allowed : 3 hours] [Maximum marks : 100

Note :  Attempt five questions in all, choosing at least one
question from each section. All questions carry equal
marks.

Section- A
1. Discuss Wordsworth as a poet of nature in relation to man.
Give illustrations from the poems prescribed.
OR

Trace the development of thought in "Ode on Intimations of Im-
mortality”.

2, Writeadetailed note on the themes and preoccupations of John
Keats as a poet,

OR
Attempt a critical appreciation of "Ode on a Grecian Umn".

3. Comment on Robert Browning's treatment of love in the poems
prescribed in your syllabus.

OR

Attempt a critical analysis of the character of the Duke in "My
Last Duchess".

6003 [E.T.0.




(2)
Section - B

4. Critically examine the way in which Dickens attacks the social

system in Hard Times.

OR
Discuss the character of Josiah Bounder by as portrayed by
Dickens in Hard Times.

3. Bring out the psychological aspects of George Eliot's portrayal
of childhood in The Mill on the Floss.

CR
Attempi a character-sketch of Maggie Tulliver,
6. Write an essay on the role of fate and chance in Tess of the
d'Urbervilles.
OR

Write a note on the relationship between Tell and Angel Clare.

Section - C

7. What is the central concern of Bernard Shaw in Arms and the
Man?? Elaborate and illustrate.

OR

Do you accept the view that Bernard Shaw employs wit as
vehicle of ideas? Discuss on the basis of your study of Arms and?
the Man.

8. Comment on Flaubert's portrayal of Emma Bovary in Madam:
Bovary.

6003

(3)
OR

Discuss the narrative structure and technique of Madame Bovary.

Write short notes (of about 150 words each) on any four of the
following;

() The Romantic Movement

(@} William Blake

(@) S.T.Coleridge

(iv) Matthew Amold

(v} Wuthering Heights

(V) Thomas Carlyle.

6003




Roll No. ..., 6964
Printed Pages : 2
CMDE /M-17
LITERATURE IN ENGLISH (1550-1660)
PART-II EN-521

Paper- Course-VI
Time allowed : 3 hours] [Maximum marks : 80

Note: Besides Question no. 1, which is compulsory, a
candidate shall choose one question from each of the
Jour units, attempting Jive questions in qll.

Compulsory Question

1. Write brief answers of about 150 words each on the
following :

(a) Grave digging scene in Hamlet.

(b) 'Flea' as a dramatic lyric.

(¢} TImagery in The Duchess of Malfi.

(d) Bacon’s essays as dispersed meditations,
Unit-I

2.  To what extent is Hamler a tragedy of reflection and moral
idealism ?

3. Dr. Johnson give to Hamlet 'the praise of variety'. How
great a variety do you find in the play ?

6964 . [Turn over
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Unit-11
Discuss John Donne as a metaphysical poet.

Write a critical appreciation of the poem. "The Good
Morrow".

Unit-IIT

Critically discuss the plot Construction of The Duchess

of Malfi.
Write a Character sketch of The Duchess.
Unit-IV

What evidence of the Renaissance spirit do you find in
Bacon's essays ?

Write an appraisal of Bacon's essay. "Of Studies".

6964
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Printed Pages : 2

CMDE /M-17

LITERATURE IN ENGLISH-1660-1798

(PART-II)

Paper- Course-VII O_u_”.-mz-mnw

Time allowed : 3 hours] [Maximum marks : 80

Note: (i) Besides Question no. 1, which is namﬁ:weg a

candidate shall choose one question from each of
the four units, attempting five questions in all.

(ii) Each of the 5 questions carries 16 marks.

1. Answer in about 150 words :

(a)
(b)
(c)
(d)

Friday in Robinson Crusoe
Fanny Goodwill in Joseph Andrews
The Spectator Club

Futility of beauty and long life in The Vanity of
Human Wishes

Unit-I

2. Consider Defoe as a Realist with reference to Robinson

Crusoe,

3.  On the basis of your study of Robinson Crusoe comment

on the character sketch of Crusoe.

6965
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Unit-11

4. Base your answeron the reading of Joseph Andrews as a
comic epic in prose.

. 5, Bring out picturesque elements in Joseph Andrews.
Unit-111

6.  Discuss Joseph Addison as a literary critic with reference
to "Milton-I" and "Milton-II".

7.  Write a detailed note on Addison's prose style.
Unit-1V
8.  What qualities do Johnson make a neo-classical poet ?

9. Why is Thales injured in Samuel Johnson's poem
London ?
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Time allowed : 3 hours]

CMDE /M-17

LITERATURE IN ENGLISH-1798-1914

(PART-1I) EN-523
Paper-VIII

[Maximum marks : 80

Note: Besides Question no. 1 which is compulsory, candidates

1.

shall choose one question from each of the four units,
attempting five questions in all. All questions carry equal
marks.

Unit-1

Write short notes on the following :

(a) Use of synecdoche in "My Last Duchess”.
(b) Angel Clare in Tess of D'Urbervilles

(¢) Role of Louka in Arms and the Man

(d) Charles hat as a symol in Mafame Bovary

Comment on Browning's treatment of love in his poems.
Bring out a critical summary of "Rabbi Ben Ezra”.
Unit-IT

Discuss the relevance of Tess of D'Urbervilles’ subtitle
'A Pure Woman'.

Write a note on the structure of Hardy's Tess of
D'Urbervilles.

6966 [Turn over
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Unit-III
Write a note on the relevance of title Arms and the Man.

Write a note on the theme of snobbery and social class
segregation in Arms and the Man.

Unit-1V

-Write a note on major themes in Madame Bovary.

Bring out the character of Emma Bovary in Madame
Bovary. _
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CMDE / M-17
STUDY OF A GENRE FICTION
Paper-X (i) Opt.-(i) Part-Il EN-525
Time allowed : 3 hours] | {Maximum marks : 80

Note: (i) Besides Question no. I which is compulsory, a
candidate shall choose one question from each of
the four units, attempting five questions in all.

(i) Attempt five questions in all.
1.  Answer four short answer type questions in about
100-150 words :
(a) Opening of Heart of Darkness.
or
Ending of Heart of Darkness.
(b) Role of Baxter Dawes in Sons and Lovers
or
Describe Paul's first visit to Wiiley Farm.
() Ending of Kanthapura
o or
womi.asm of Kanthapura
(d) Symbolic significance-of plants in A House For
Mr. Biswas.

ar

Ending of A House For Mr. Biswas.

6968 | [Turn over

(2)

Unit-1

Comment on the title of Heart of Darkness.
or ‘

Write a critical note on Conrad's prose style.

Unit-11
Wiite a critical note on the use of Oedipus oonﬁ._mw in D-
H. Lawrenes Sons and Lovers.

or

Comment on the structure of Sons and Lovers.
© 0 UnitIT

Comment on the theme of Kanthapura.
 or
Comment on Raja Rao's prose m&;@..
Comment on the theme of ‘disintegration and change !
A House for Mr. Em.sﬂm.
_ " or

Comment on the structure of A House for Mr. Biswas.
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BHASHA VIGYAN EVAM HINDI BHASHA
Paper-VI (Hi-106)
Time allowed : 3 hours] [Maximum marks : 80

o X
% : qrr o 3 gov dfw -

1.  UHe # 9fgg | 399 Rewad €@ w= sk
Ctic ]

g AR wesll g Rer @ g aRdn o sme @
gt Prdes a0 fe o et @ B war B R ? W
G|
2. w1 1 oREg SR s ) Rdwaet gt A g el
Sbo N
gt =l @ oftea S
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(2) (3)

gT-g
. T ofg gl & auT @ 250 o= F e

(i) 5 g 3 Bdwand ST

L (i) i &1 wRe A (xi) T SfPET &g a2

(iii) oreFt 3 e FaRT (xii) ra ¥ o= 9 grly @ e woeT RS g R
(v) @R i & § 7 = ?

(v) deT 3 9T AT/

(vi) B @ 9T ww ik

(vii) aafy & 71 s & 7

(viii) T & =9 # R @ oftey Gt

(ix) wdfFh argaR it Bl os Ry @ auf @k
x) B e Bee @ @Ew we Hfg

——

Uz
. FrafaRe get 3 9ov G -
(i) ﬁ%ﬂsﬁmﬂﬁ@m%ﬁwmﬁw
(ii) 9a W W RAEH &9 F9 Q@ B9 aF T o & 7
(iii) oo Toedt dem F frg Ry o odm R s & 7
(iv) Oivwm =1 I Rew s § @ o ?

(ix) Cfeiys Bem girm § 39 4 96 07 =< & w7 F
Reesfer g ?
(x) T B SR S T a5 g ?

(v) ‘Uerr & # samm e st w7
(Vi) Mt ads s Ru e &, SE ;A wed B ?
(vii) ‘B = # ‘g0 Bpm v @ aqwd & 7
(viii) T 9% 9= R aT A g e & ?
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1. Prefiea s TeElE ST A 4x12=48 : s B a1 fEd)
@) R 3 aaie-aieghe Wi & wwe S 3. P qefs et 3 o R - X212
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N N T s e (@) frsr sgalt & Qe @ A Ra ?
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e
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MDE / M-17

AADHUNIK GADYA SAHITYA

Paper-8th (Hi-108)

Time allowed - 3 hours] [Maximum marks - 80

W : o 5T ot &1
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T & 0F dea # AR s L 3x7=21

(i)

(i1)

(iif)

(1)
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(i) Rl T 39 -G @ AR a9 F 8 S o
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R FE aEd ¥ | ST O 98 TSNl B T W EEN
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T B geh et R org ST g
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AADHUNIK HINDI KAVYA
Paper-1X (Hi-109)

Time allowed : 3 hours] [Maximum marks : 80

1. Frafaieg saaen § | &9 & 99T s Fif : 3x7=21

()

(i1)

ferll gis R mn &, &2 ora-7a o & & 9, sl
T Sigdl § g5, S8l oel T g8 el B A F wE 6%
T § 1 90 e A sl 9% B T R o @ 2
Hl Ft [ 9 Rare e, o =i, daa s S @l
3 o 4 & R o e o Rad ge 3 @ Ao § 16,
FAg-Heor G @ |
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TETEERM AT R d e dTwm B gm @
1B, W, TR 99 R F &, unw § wew dR # g
il § YUE 9d & @ aFT §-98 TR, a5 AN B
TRy g el et a9 § @ &, 9 am g WA
FHN

(iii) = U, giehas gy o} #y o« Mg s, R s

(iv)
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TR ST o, WG § AR =K e Akl @l W e
ﬁiﬂm&éﬁ@gﬂwmﬂﬂw%ﬁu%w
T & HE LA & M- HEd TIARL |

5 TAT 3 T B W@ ¥ | VAR T o R @R
R aediart 7, i 3 Rygivard o, o1 a% 0 R ? S

. 1 ot el 99 T &9 T8, o A el § F q

(vi)

mﬂﬁ%%ﬂ&wﬁiﬂﬁﬂm@wﬂ&%ﬁ&é
e, T & el 3 R T, ST g @ o § T,
Prfera & T owe, 19 o @ e, Shae e ! sel
3 fow Reed fro, g9 e W, o1 3 3 & aml o s
i, § T G, TEA-Igd B |

T e o ¥ e, Rt ¥ <, e gt B
o 391 | A RO T R o g i Sf g
Rpfe S & et 1 U5 S | Tde waee Rarer
1 TR @ 7 A o R | O, SE 6T H T o 8 8
IR, A IR FE T HS Q... T A @ & WA A
ﬂmﬂm%%ﬂﬂoﬂ%ﬂ%w&s@ﬂm@ﬂ%%
3 &= 7 1 0o ol TR F o o @3- S, W ot E

. Prahieg aeETEs e § 8 @ @ oW R : 3x12=36

&)
(ii)

Ay e H ded A B AT P
sl F g ois @ Rl Rl

(iii) ‘sl & T Py H BEE HR

6998

(3)

(iv) o@g e & affg a1 BEe PR
(v) g FE & R w & e sl
(vi) o Bred $ e o F e S

. PrefeRed @gad S § @ O & I 250 e 7 ffw

5x3=15
() R ded A FF qYE A G A5 A@ |
(i) s Hea@ & ‘WA FA)
(iii) R adt 7 9 IR Al 7 F |
(iv) =R TR F @vs T FA |
(v) TgAR 9@ & HRd |
(vi) TR e @ HA AR
(vii) g% IR W Fed G B @A |
(viil) T FIR F ‘T Fog awarl’ |
(ix) v vee By W AR
(x) T W # R |

. Fretied agge geE @ S AR 8=1=8

(i) ‘w aiEEs @ s Fa @ wlEd)

(i) @-w1 Ha Gvedl & fw wfe=s B

(iii) RdT B HER & 9K wed’ e R i w g ?
(iv) ‘oix %1 T Zgr RFed @ 8 7

(v) AN vivEy FEE-EEE B TR

(vi) ‘@ o g R e R

(vii) ‘o HRT 99 @1 2 BT B EEAHR

(viil) e B ‘Gea e e g
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7002

Rt 4T Wt feapft iR : (5@% 250 =)

e AfEd & ¢

(4)

5%x3=15
‘FBT FEHI F AR ARG |

‘FHgi § bR TSER ) -

Jrrs @ P 2 ety

T R e & AR

e Y Faal B oqm

e i RAT

i.ﬁﬂ,aﬂamma_

ﬁmuwﬂi&mﬂ_

FUYH’ H A F 8 7

wgEeEd § S 1 et wetvar Pt § 7

dig e el & a8 7

g 7 s A w9 @ svendis s SR Rar @ ?
IHE= S H g 7

FHYR IO TRl AR R A H g ger ?

g3 I WA FeM REn-goned 6 ¥ @ Rewe S @ ?
it ofR Sig o |ey 69 Fer @ 8 7

1x8=8
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Paper- Nan -110) Opt.-(iv)
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Fe: @ T A &
1. R o 9t deel |Ra aren 3 | q-% @ 9-g § | -0

Tt v afErt & ¢

()

7002

3x7=21
A5

M AR W 96 FH A 2, (6 od arn-Rian 71 Felem a7oit
I B HAEE A X @ B | IEH B 9§ & 5 I9
GFEHT § dg® PR 8 9 & | 59 3% fa B San
gt I e ool 2, @ B Y Fm o ) ? eEite
foam-are # 9% % Ater fowr & R wga @ o B R,
A T/ ? B FH B REH T T B I e @2 R
33 ¥, R s e &, 3o T Tl @ AE

AH Bt WERAF AT B ST @R | aew Raee
T =R, daR H I M1 AR, Hedl @ RER T 9,
ARl Y31 BT 916, FIS WA 12, A aoHT 912, TieH o
S T 9R, @ FRA RE 9, 98 T A 9 o
PiE TS T B I 5K 6 WGRE AR S 99 ° R, i
3 fBecht 9@, AEM H MY Sl 91 HEST RS Wd § H
%2, Tl I8 AATEET H S A &, 98GR 3R Iwsl

| 7! 8 FEa .
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AU 2N B YU-TA T 1 N D gl § & o 9] @y
Fed & 1 T8 7z TE B g o0 e oY B0 B e § e
@ Sl ARFER @ RA-RT 39 aea o, HeiEr @ 3
SR W | 9o 99 AR @ B, gt SR O ger & o 39
B AL W F I T A A, U7 @ & R
el @ Iud T @1 oha wae T @ f-ame R
Fd &, T AU & Wwemiedt & 321 B 9 T P &
AR AR F A O gl T o @Yl &, axiw 9

6 sty < st o¢ S o et AR o s S e

AT-TT &1 2 Rt FR eI A S smen e &
%Ewﬂ%mﬁw@ﬁwﬁ%ﬁﬁﬂ%@a & 2w
W FHaar 21

HT-5

T g Es 9 8, T g B, T Wi #, T shgew
B 1 &1 U § HEd B G W GH § o Aeg AR goTaa
1 g9 72 A 2 Ry Prew a dwa ol fg @ T
T T WRi B 1 A8 e i, 9f @e-fEm 1 @ik,
TETET B AR | T & T8 e § R ae oot g a8
| |

T il (e A 9 guET 31§ At 3 off oy R et
Rl i 4 @2 & ) R g3 d@und 8, Reoelt g
aeyT| el 4T 0F w1 R 4 3% 9 €, R ued w0
T @3 & A §, OF 9 FE &, oY 0% 5 @R & o g,

2.

foedl o & IR T

(3)

Wi & 3R Th WY g3 A $fR w9 e, @
Iyd 399 o, et wrgiees frm, e o) o gea @
=, T 3T eI # 9 W R, A A" B O g
T A H ow @St § R gy B

T famiEl R Raml &fRdt o i w 9 5.
-8 R A1 & SR & T i H ¥ 7 zakn 5
B T S 7 & ? g6t f P B, 09 B2 ¥ 19 A &Y,
-5 4 B, g IEH 3§ B AW g9 o1l T O I
e s=m R it 93 g &t 6 ofX A F Ane @ T g
wfed & 7C F < aeg! 7 e &k & | 78 | ot o of # A
foreeR? 3= € | 1 0 At &, Wl 3 A e B | Rew-few
ad F gHE 39 8, 89 - R 98 B osw 39 E,
B %9 | FH e F o S g, dl W ﬂ%ﬂ@ﬁw%aw_
S} FIH BR W |G e o g, ﬁdﬁwﬁ@ﬁ
FAEI _

12%3=36
‘FHAW ITUE &) aauE § g 8 RER SR
‘GHGH AT F T B AN W AR o i |
I @ ITE B W T S |

IR @ wR 3 Rer woweny Tl

Bt SyaE | BEw $ AEN W g SN

I At § e W) @y s
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7. The sales dataof an item in six shops before and after a special
promotional campaign are as under
Shops A B ¢ D E F
Before Campaign: 53 28 31 48 50 42
AfterCampaign: 58 29 30 55 56 45
Can the campaign be judged to be a success ? Test at 5% level
of significance [t; ,=2.02] 16
B g F OF 0% H R oied o Rt stmm 3w @
TWwH e a
3FM A B C D E F
; q e 53 28 31 48 50 42
a3 91 . 58 29 30 55 56 45
H AN F A fAoiia frm o g & 2 avfww 5% W 9
e wi |t = 2.02] 16

Unit-IV (F#E-1V)

8. Calculate Karl Pearson’s Coefficient of Correlation from the
following data : 16
x: 6, 8 12, 15 18, 20, 24, 28, 31
y: 10, 12, 15, 15, 18, 25, 22, 26, 28
Frfofes o6 & @l foeda 3 wewsra % € T S

_ 16

x: 6, 8 12, 15, 18, 20, 24, 28, 31
y: 10, 12, 15, 15, 18, 25, 22, 26, 28

9. What is an estimator ? Discuss the desirable properties of an
estimator. 16
ARETE 8 7 % e @ aisa o @ R A 16

7076 t1rans.
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CMDE /M-17
QUANTITATIVE METHODS-I1
Paper-203
Statistics for Economics
[Maximum marks : 80

Note : (i) Attempt five questions in all selecting one question

1.

Jrom each unit.
(i) Question No. 1 is compulsory.
(ifi) All questions carry equal marks.
() % 5% @ @ 9v7 05U, 39 9 997
(i) g7 @ 1 s &
(iii) &+t ge 7t & IF gy &
Explain briefly :
dferd amEn FiRT
(i) Factor Reversal Test for consistency of Index Numbers.
qEFE wesd & wifte 3 g aree ageeee o
(i) Components of Time Series.
Ao & °TE )
(i) Mutually Exclusive Events.
IE F FOEA g |
(iv) Equation of Normal Probability Curve
TAME s 96 A
(v) Typeland Type Il Error.
g [ T w11 sffear
(vi) Stratified Random Sampling.
=gy aehes o

7076 }irans.
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1v1i) Simple Correlation.

qE W -aEry
{viti) tInbiasedness of an Estimator. 2+<8=16
UF ETEH F A 2x8=16

Unit-1 (3%3-1)

2. Discuss Laspeyre™s Paasche’s and Fisher's Index Numbers.

Which of the three would you prefer and why 7 16
ey, Wl T e B gEwe G w [gaga T | A g
A AN B e 3 g e 7 16

4. [itastraight iine trend to the following data using the method of

test squares and calculate the production for the year 2001

Year: 1996 1697 1998 1999 2000
Production ('000 tonnes) 83 92 74 90 166
16

g7 g 4 [ @ SE w9 g0 T s 8 0% a3
Fgia TfeE @ite @en ad 2001 & U I@Ed O S

ad 1996 1997 1998 1999 2000
e (C000 T) 83 92 74 90 166
I6

Unit-11 (3F=-11)

4. (i3 Aproblem in statistics is given to two students A and B.
The odds in favor of A solving the problem are 6 to 9 and
against B solving the problem are 12 to 10. IfbothAand B
attempt find the probability of problem being solved.

(i A box contains 3 red and 7 white balls. one ball is drawn at
random and in its place a ball of the other colour is put in
the box. Now one ball is drawn at randem from the box.
Find the probability that it is red. 8+8=16

7076

(3)

(iy & oei A 70 B & aifed € ue g5 & E E ) ETE A
MEH A PITETAI WA ITI 602 g B 3 v
e wA & wee 128§ 10 &9k Ag BN At
w1 B O OHEn & B9 S MY Wl WUl AR S |

(it) o =@ & 3 @@ q= 7 992 X £y IRRESEEY § @k T
frepred A 2 G sER wW W E o T W R T A
Ty § T B ) 9 0 e F Igisd v § g § R s
2 wfgsar s wifan fF 78 @@ 2

5.  FitaBionomial Distribution to the following data :

x: 0 1 2 3 4 5 6 7

y: 7 6 19 35 30 23 7 1

Also find the mean and variance of the fitted distnbution. 16

frafafed @ & oo oF ol faavor =iy #iRI

x: O 1 2 3 4 3 6 7

v: 7 6 12 35 30 23 7 i

it e % gey = faEm @ o m FifEg 16

Unit-I1I (3%=-111)

6. The time taken by workers in perofrming a job S\ method I and
method 1T is given below.

MethodI: 20, 16, 26, 27, 23, 22

MethodII: 27, 33, 42, 35, 32, 34, 38

Do the data show that the variances of time distribution from
population from which these samples are drawn do not differ
significantly. [F, (6,5)=4.95] 16
fafer 1 @ RIS 11 210 w& 39 £ Feofeg o3 o sftel aro fn
T v e e R

fefr 1. 20,16, 26, 27, 23, 22

faf 1. 27,33, 42, 35, 32, 34, 38

T dpe Ren ¥ avaen B g ey te o € @ faar
a1 Perer ande &g @ e 98 € (F L (6,5) = 4.95) 16

00s
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MDE / M-17
MICRO ECONOMIC ANALYSIS-II
Paper—201

Time allowed : 3 hours] [Maximum marks : 80
Note : Attempt five questions in all, selecting at least one

question from each unit. Question No. 1 is compulsory.

- All questions carry equal marks.

A : F% R T TG FHUE I H T A G5
g 59T FT 79T o 1 difvard &1 ooft gl @ e
aT &1

Compulsory Question (3iard 457)

1.  Answerall parts briefly : 8x2=16
() Whatis meant by diversification ?
(i) What do you mean by operative constraint ?
(i) Giveanexample of asymmetric information.
(iv) What do you mean by inter-temporal choices ?
(v) Write two examples of negative externality in
ooumE.bwmmP
(vi) Define E,v:o goods.
(vi)) Whatdoyou Bamlg value of marginal product ?
(vili) Why the demand for a factor is called derived demand ?

6971 | Trans [Tumover




(2)

ﬁiﬁﬂ@ﬂﬁa&@w” 8x2=16
@ e @ g ol 3 2

@ oREmEeE TRt @ ety R ?

(i) vy g & o sEe SRR

(v) =T e fagedl & T Sy R 7 .

() SUMT F THERES qReT B A IeT AR

(V) wEE aggell # uRter SRR

(vil) T IR F ORT B R g Y

(vVil) TF WA P AT F T G @ wey ¥ 7

Unit-I GFE-T) -
On what basis the marginal analysis is being criticised ?
P SR R A R @ oremr @ o 7

. Elaborate Williamson model in detail.
fafeames Hsw & fawga avi= R

Unit-II (F6E-1I)

Write note on following : o

(@)  Elasticity of technical substitution and factor shares
(b)  Technical progress and factor share

frefaied o ool fufas

(@) Tl RO & a9 At A el
() T R e e e

6971

(3)

How the shares of factors are determined as per Ricardo ?

Rt & orgeR At a1 feew fow s Preifd o @ 2
Unit-—111I (3%3-11I)

How the equilibrium is determined in the Walrasian approach

to general equilibrium ?

I Y B A GRRE B Sqaen ¥ aged B e
Freife & g ?

Write short notes on :
(a) Extemalities in production
(b) Public Goods
wferey feeeli oy
(@) SURT § SEEn
(b, awI T
Unit-1V (SFR-1V)
How the decisions are being taken by risk pro, risk neutral and
risk takers 7

Sifem o A, AR & sfy aee @ A § e By
T fofy &g & ?

Write a detailed note on Economics of information.

I & srdore W fwga R fafed

6971
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CMDE/M-17 |
PUBLIC ECONOMICS
Paper-204

Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all. Question no. 1 is
compulsory. Select one question each from each of the

Jour units.
e . g G 997 Fog) 997 @ | dfvard &1 a7 swEd A
g% @ 0% 997 7 1
1. (1) Define unanimity rule.
eI (e w5 i i |
(ii) Ummsm the oo:o%_ﬁ of single peaked preferences.
T AT SEHE @ S B G ST |
(i) What is harmonization of indirect taxes ?
ST B A ATETT D 7
(iv) What is social discount rate ?
HIoRE g7 3 M © 7
(v) Define risk and uncertainty.

Siam on fAfamar & g i |

7077 | Trans. [PTO.




12

(Vi) What 1s management of public debt ?

-

% T F ATHT FA 2 ?
(vi) What is voting with the feet ?
R & | TR o e
{(viii) What is conditional grant ?
e HAFEE T8 7
Unit-1I Ammmmnld
Explajp in detail Buchanan and Tullock model of public

choice.
AT T % gEA 4 gl Aied F AR e i)
Discuss Arrow’s impossibility theorem alongwith its
properties. |
W % SR oiE # AT zael AEvael @ [de
HIfTT |

Unit-11 (5E-11)

- Write a detailed note on the theory of second best.

foeig wdivm & fomra O¥ ow frege feool R

What 1s social cost benefit analysis ? Discuss the procedure of
undertaking this analysis,

HIHIST AR & QgerseT a4 2 7 36 [eaw & #9 F e
ufRa i e #ifny

7077

(3)
Unit-111 (5FE-T1T)

What is burden controversy of public debt ? Discuss the classical

version of the theory.
A= F97 & arel fGamm 7 ¢ 7 s 3 9 sgiaeer &
feeraT iy | _

Write a detailed note on the redemption and effects of public
debt.
HEANE B0 & e Jo gHE) 9T e el R

Unit-1V (F#E-1V)

Critically evaluate Tiebout model of local public goods.
WA At aggelt & TEaree Wed & SaEIeH T
FATL |

What are intergovernmental grants ? Discuss their role in an
economy.

HEC-TRN EE # 8 7 uF e ¥ S g
e i |

7077
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CMDE /M-17

| COMPUTERAPPLICATIONS E.A ECONOMIC

ANALYSISHI
Paper—205 Opt. (vi)

[Maximum marks : 60

Attempt five questions in all, selecting at R..ﬁ.\ one from
each unit. Question no. 1 is compulsory.
e . 5% $0E Q@ ¥ @ FT G 97 F 797 F 5T 5T ug
797 Fiforg ) 997 §. 1 sifyard 81
1. Explain the following :
(a) Exponential Growth Rate.
{b) E-Commerce
(¢) Smart Cards
(d) ARR
{e) DiscountRate
()  DataMining. ) 2x6=12
Frfefaa 1 arer Fim
(a) HHE gis &
(b) -
() = BigH

7083 | Trans. [P.T.O.




(2)
(d) T amw
(€) &1 =X
)  FEE = fagaEer
Unit-I (356 -1)

2. Discuss the steps involved in computing descriptive statistics

from a given database. : 12

Ww%ﬂ%ﬁ@gﬁg&%ﬂ%@%ﬂé
%! fad=m #ifm

3. meE.M the procedure for construction of index numbers using
a software. 12
HIFAT @l FAT D GEhiE B P ) wfe s i

Unit-I1 (3F1-11)

4. Discussthe applications of information technology in business,
12

TS T I THAF B SR A Rrderr i
5. Show the electronic payment system :.mm:m aflow chart. 12
OF F A IR TG A GO geried |
Unit-I1I (3 -111)

6.  Describe the project selection techniques in brief. 12

AT T FE @ R ¥ el By

7083

(3)

How do we conduct a Break-even analysis using a spreadsheet?
12

@ﬂﬁﬁ%ﬁ%mﬂﬁ&m%@ﬁmﬂﬂzﬁwwm
Unit-1V (33E-1V)

What are the desirable qualities of a good information system
fora large multinational firm ? 12
ﬁ@%ﬁﬂ&%@ﬁ@%ﬂﬁ%wgﬁwﬁﬂ
-8 F ?

Explain the Top-Down and Bottom-Up information system

design approaches. ‘ 12
I H AR N R T g e e SR )
AT Fif | .

7083

LRI T T

T b e



< What is o orporate Ree o 7 Discuss  various

Af corporawe restructuring. 10 ROINO. cvereniiercinarinesns Total Fages 1 (44
Fie EEA ¥ OE ¢ PUE R w1 A MDE-/M-17 10063
T = MANAGEMENT ACCOUNTING AND
FINANCIAL MANAGEMENT
MCIT-201
Time : Three Hours] [Maximum Marks @ 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any Fowr questions out of remaining seven
questions.
w7 afe wed AR 4 v HEm | sHqar

T 9w omd weA H o9 o oww 9w A

1. Attempt all the following questions i briet
(i)  State objectives of Management Accounting.
(i)  What is Responsibility Accounting ?
(iii) Explain Conversion Factor.
(iv) Discuss Life-cycle Costing.
(v) Define Financial Management.
(vi) What are various types of Dividend ?
(vii) Describe features of Optimum Capital Structure.
(viil) Explain Financial Indifference Point,

1 -10063 1 50 (4-01/3) 1.-10063 P.T.0.



(ix)  Deseribe sroad areas of Corporate Restructuring,
(x)  bxplain EBIT-EPS Analysis. 10x4=40
=4 oyl % SR "Wam ° fafae

(i) T TwiEl ® IRgd FdEd |

Giy A wREeRA w7 7

(iii} FasH FEFL B AUA HIAL |

(iv) ER-=Fw @ fae #w faEss wifse

(v) Tadg W@ w1 FEEART

o) e F - fatem gEr €7

(vii) #TEERd TS WA % G0 =Ry |

(viil) fasma sexfma feg &1 aoA Sifee |

(ix) FrRz TR % fawra & w1 9o &I |
(x) EBII-EPS faweiwor &1 aviA =ifSw |

Discuss various tools and techniques of management
accouniing. [ow management accounting system 15
nstued 10
A T w1 AfEe Aef] SYFEON H TEEEA

-

HTr  rEa e YOS #E o @1 Wil § 7

Explain  various responsibility ~centres. What are
fundamental aspects of responsibility accounting 7 10
fafi zFE wl F1 VA EfAT | SifAe T ®
fafg= Tee T E 2

What s divisional performance evaluation ? State Its
objectives. Discuss its methods. 10
faurig STIMerd Awed F 8 2 THe 3e¥d ARy |
zaert fafei w1 =3t =i |

L-10063 2

5. What is Activity-based Costing 7 What are its mernts ane
demerits ? e
fopar-smenfg wmTe Frufror g 7 T AW A
7 ¥ 7

6. Describe the factors inliuencing dividend decision:
Explain Walter's model of dividend decisions 1
A e D wEE # T AE R #) A F

7. The following informtion iy given
Fixed Cost ¥ 50,000
Variable Cost 70% of Sales.
Sales ¥ 2.00,000 in previous yeat and T 2.50.000 in
current vear. Find out percentage change in sales and
operating profits when
(a) Fixed costs are not there tNo Jeverage),
(b)  Fixed costs arc there (Leveraged situationt. i
frfefem gead sves 7
e @ T 50.000
= wrE a1 70%
m o= F faga T 200000 Fy omEas Aw ®WoOEEd
72.50.000 ¥ | Fawm qu1 Hores Anal o wfem i
i wifsu, =t
(1) T AFE A B
() T EA B

4-01/4) L-10063 3 P.T.0.



7. What is regional economic cooperation ? Also discuss the

rationale and types of regional economic cooperation.10
g ofi mEEm w ¥ 7 & oA wedm =
i SR R W == S |

8. Define foreign exchange rates. What are the determinants

of foreign exchange rates ? Discuss. 10

Tz fafrma < =1 ity Sfeg | foeeh o <0 =
fraier @ w0 € 2 9l wifEw

L-10064(TR) 4 50

Roll No. e Total Pages : 04
MDE/M-17 10064
INTERNATIONAIL BUSINESS
ENVIRONMENT
MCIT-202

Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
wd i e % SR GfEu | ye e 1 arfed
g

1. Answer the following in brief :

(a) Differentiate between International business and
International trade. 4

(b) Why wm,: important to study legal environment
while entering in foreign market ? 4

(¢) What is externalized type of technology transfer ?
4

(dy What is the difference between Foreign Direct
Investment (FDI) and Portfolio Investment (PI) ? 4

(¢) What is International Commodity agreement ? 4
(f)  What is the role of UNCTAD in international

business 7 4

(2-11/3) L-10064(TR) P.T.O.



(g) Name the head of the following international (3) Tt fafmg som = wftafse sifsw o

economic institutions : (%) focet fafwa Sifem & gofd =@Ew )

@ WIO 2. What is the impact of economic and socio-cultural
(i) UNCTAD environment on International business ? 10
(iii) IMF i =R | AfiE 9u wmiee-wiepiaR wiE
(iv) World Bank. 4 T YHE T OB ?

(h) Why is SAFTA less successful regional economic

. 3. Multinational Corporations are boon or bane for
cooperation ? 4

developing economy like India. Discuss. 10

T Fm R S frewee dw % foe aEm f
Ao ? 9o Sifeg |

(1) Define foreign exchange markets. 4

(j) - Discuss the nature of Foreign Exchange Risk. 4
frefafan =1 de9 o Iw 9fET -

(27) AU SR U1 AU HRER T 3fR Famsy | 4. Discuss the contribution of World Bank and IMF for
(%) fogeft =R & wEw wW@ T FHIAT e H Indian Economy. . 10
s @ FeET ¥ 2 yda eisreer § fred S O SREE 9m oE
(|) THEAE TR H Al TER @ g2 A T #e
(=) faelt vy F¥w (FDI) o W wifem f&e (PD
§ af a9EY | 5. What is generalised system of preferences 7 Why is it
(3) s a9 e F= e ? adopted 7 Is it really successful in today's scenario 710
(F) RIS SR T wwEE wos qfi § 2 SrFast B TEEEG WO F g 7 T A T
() Frafafen onfie s ¢ gfew AW 99EC 20 3 ooE A ® Uigva H ok ¥ 9RA § 7
M WIo 6. “ASEAN is one of the most successful regional economic
(i) UNCIAD cooperation.” Elucidate. 10
Giid) - IMF " Sfear T e TEC A ot wea 8 1" fan
(iv) World Bank. 3 o FRT |

() SAFTA &9 T%el &4 o wedm «af 2 2

L-10064(TR) 2 2-11/4) L-10064(TR) 3 P.T.O.
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Time : Three Hours] [Maximum Marks : 80

7. Write notes on the following :
(a) One-tailed and two-tailed tests
{b) tOE-mn:Bm test.

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt any four questions from the remaining

frefafas — fewfort ffe - questions.
(%) TH-T= T G ThE F@ Ut W ® TW ARG oy wen 1 st
() E- T ‘ F 9w owe ¥ W PR WR W #f

8. (a) Describe briefly how a research report should be .
Compulsory Question

presented.
dpEwE RE 39 weE W 9 e, W A ST e
TART | 1. Attempt all the parts in upto to half page :
(b) Distinguish between an interim report and a (i)  What 1s Scientific method ?
summary report. (i) Define Research design.
i e gun Ty fad 9 s wifew o (iii) Distinguish between Null & Alternative hypothesis.
4x10=40 (iv) Distinguish between Point & Interval Estimation.

(v)  When do we use F-test ?

(vi) What are the parametric tests 7

(vii) What do you mean by goodness of fit ?

(viii) Mention the chief features of Wald-Wolfowitz test.

L-10065(TR) 4 29 (2-10/14) L-10065(TR) P.T.0.



(ix) What is Rank Correlation Test ?
(x) Distinguish between a research abstract and a
research article. 4x10=40

9 F I USF oY U H FheY

(37) dufre fafa = & 7

(1) sguH fesmA @ 2 2

(9) YA @ JHfeqd ST H W RIS |
(3) a5 91 &< e § HW HiSQ |

(3) T9 F-7hem %9 =@ £ 2

(%) ifes whem w3 & 2

(My fFe & oT=9F § AU W GHEE € 0

(%) aAce-dewiaes wWew &1 yE favvad sRe |
(3) wfz TegEy Ty W= g 7

(1) ﬁmﬂmﬂﬁzmgmﬂmﬂ.ﬁ&nm%%ﬂa_

(a) Select a research problem and prepare a research
design for its study.
TF OTEMA GHE w1 A HIT qo 36
FopA & fou omEyE fewed fAw A
(b) What is a Social Distance Scale ? Give an example.

Tt T A w2 7 T OSSR AfEe |

Discuss the factors upon which the choice of a method of
data collection for a given research project depend.

I FE F v Fifee i w R TS sEEum A
% o o7iwe wHhm w@ &1 fafy spaf@ @

1.-10065(TR) 2

On an examination in statistics, 10 students in one class
showed a mean grade of 80 with a standard deviation of
8, while 12 students in another class showed a mean
grade of 76 with a s.d. of 10. Using a = 0.01 level of
significance, determine whether the first group is superior
to the second group.

oiferst & & whem §, 10 foemfeal 3 ww wa § W
foge 8§ ® WY 80 & WA U femd wElE TEG wel
o 12 foenfael = wHe faEed 10 & WY 76 ® WA U
fe@d | o= 0.01 WMYFA T F W W g TR0 R
T TES YT SE K oamen 9% ¥ 7

What are non-parametric tests ? Briefly describe the
process of Wilcoxon's signed-ranked test.

- triifeam w1 € 7 ool Oee-Hife W wiha
w1 HAfwe TR SIS |

Use the rank correlation test at o = (.01 level of
significance, to determine if there is any positive
correlation between the prices of shares and prices of

debentures, given as below :
Prices of Shares (Rs.) ©52,53, 52,60, 45,31,37,38,27,25

Prices of Debentures (Rs.) :65, 68, 43, 38, 77, 48, 35, 30, 25, 50

(2-10/15) L-10065(TR) 3 P.T.O.



Cneessothe fzotors influencing online pricing. Why online
Seoz tends to ditfer from offline price ?

Feeri mEe FURY F1 wfan w9 FRE #6190

-

=it | STEmEE FHA w1 W o oigd wied 9§ &9

S

Jrevise o workabie business model for online marketing.
gea faumm # A0 % 9% JWNR WEd F1 99

A -
! *ulmmm

ROl NO. cervviienenreneerensones

MDE/M-17 10066

ONLINE MARKETING
MCIT-204

Total Pages : 04

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions from remaining seven
questions.

T U WA & S® AN | g we 1 S
209 TR oweA § " W Y &t |

Compulsory Question

AfaTd wvs

1. Write short notes on the following :
(i)  Advantages of e-Branding
(1) G2B marketing
(iii) Examples of C2C Marketing
(iv) Positioning planks in online marketing
(v) Challenges associated with e-Retailing.
(vi) Recent trends in e-Retailing in India.

(vii) Instances of niche marketing in online business.

(2-57/12) L-100606 P.T.O.



L-10066 2

(viii) Limitations of e-Mail marketing 3.
(ix) Search engine optimisation.

(x) Blog marketing.

frerfafen w wfyw fewfoar fafen

() I-=ftzn & o9

(i) G2B fFIvFE

(i) C2C =+ =W 4.
(v) e T W

(V) ~2-fRfedm 9 gwfeg Mﬂj.m._ﬂu_‘

(vi) sra ¥ I-fefan F i vt

(vil) & ogT =R § A fHevH # e

(viil) 3-H&1 HEfan H1 HEn 5.
(ix) &9 I STFECEE
(x) =AM AERfET |

How are marketers finding social networking sites as
their business promotion medium ? Are there negatives
of marketing through such sites ? Discuss citing suitable 6.

examples.

fome wmifaes AeafdT WEzg ® @We =R W
oA w wT W RE FW § P AE # wE Uy ¥ 0
Ifaa SEETw F WY guA #IfSe |

How do consumers behave while indulging m ¢nine
purchase 7 How such behaviour is different to thar depivis.
in physical retail purchase 7

ATt TR F I TR W mERT F 0T
=ifeq 7 = gen wiE F afiln wmmEr w T

IR T HY e T

1

How is internet making an impact or: the way matke
rescarch 1s done 7 What benefits has it offvrel ir
regard 7

fagom vy FA H T W gww g 70 ew oo
H g oA € 7

What kind of marketing channels comes into picture
online marketing ? How are these different o thos
traditional distribution

AT W H W YeR % famuE S e

7 fagm & w9 fa= £ 7

How is internet influencing marketing pl
control 7 Discuss using suitable examples.
T=ee famom dre w1 SS9 gwfam s § e S
W £ 1 s T A

(2-57/13}1.-10066 3 P
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MDE/M-17 10067
E-COMMERCE AND WEB-DESIGNING
MCIT-205
Time : Three Hours] [Maximum Marks : 80

Note : Attempt only Five questions. Q.No. 1is compulsory.

1. (@

(b)

(©)

(d)

(e)

®

ﬂﬂﬂdﬁ&%mﬂmﬁm_ﬁnﬁ@_gﬂm&
7|

Define B2C and its features.

BrC Ft uer Afwy et gl fawead SaEy |
Name four cashless transaction methods.

T Sy wd fabE & A AT
Name four search engines.

aX W T & AW e |

What is News Group ?

=R-gd B 2

What is Open-Security on Smart Card ?

wF FE W GEt gEn #@ g 7

Write four applications of E-commerce in Direct

Marketing.
g foo § iowmd @ ww gy fafe

(2-10/3) L-10067(TR) P.T.O.



(g) What is Web-Rings ?
T fm w7 ? )

(h)  Write four applications of E-Commerce Technology.
twmd Y ® ww s @ avh
I |

(i)  What is Web-Server Setup ?

39 Wit Heew w2 7
(j)  Write four issues in launching an e-business.
4x10=40
T-EUR YE W § ur R fafeu

Define E-Commerce and its classifications. 10

- w1 aftufyd wifse qon @ e ®) aaed |

Discuss Business Models with example. 10

SIEL0 WiEd NN qigsw w1 9uig wifEn |

Explain use of e-banking in modern scenario. Discuss
security issues related to it 10

ayfar qfiged § -dfT w1 yEm TaRy | THY Hahd
T e F S0 FIT |

In your own perspective what is future of E-commerce in

India. 10
ATFE AR NG ° -FHE F1 oufass s @ 2

What are issues in Marketing an e-business ? Discuss
Back-End systems. 10
i-fasme % famm § 7 v ¥ 7 S9-we fgmA W
= wifsw |

L-10067(TR) 2

7. What is Cyber-Law ? Discuss latest amendments to cyhe
laws, e
W T FN F 2 WA FAA T A TwE
== I |

8. Write notes on the following :

(a) Issues in adopting E-commerce applications
(b} Disaster Recovery.
frfafaa w femforr fafey .
(1) 3-Fme STyEr & FTH F R
(F) v fhad |
(2-10/4) L-10067(TR) 3 s



